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(8) e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg
1) e¡j{UH$ joÌmVrb KQ>Zm
2) amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg
3) Amamo½¶ joÌmVrb KQ>Zm

1) e¡j{UH$ joÌmVrb KQ>Zm

1) ‘w»¶‘§Ìr ’o$cmo{en H$m¶©H«$‘mgmR>r H$moUË¶m d¶moJQ>mVrc VéUm§Mm g‘mdoe H$aÊ¶mV Amcm Amho ?
1) 18 Vo 25 d¶moJQ> 2) 18 Vo 21 d¶moJQ
3) 21 Vo 26 d¶moJQ 4) 21 Vo 30 d¶moJQ

1) Which age group of youth is included for Chief Minister Fellowship Program?

1) 18 to 25 age group 2) 18 to 21 age group

3) 21 to 26 age group 4) 21 to 30 age group

2) Imbrb {dYmZo {dMmamV ¿¶m.
A) ZdrZ e¡j{UH$ YmoaUmZwgma e¡j{UH$ gÌ 2023-24 nmgyZ gaH$mar Am{U AZwXm{ZV emim§‘Ü¶o {dÚmÏ¶mªZm nyd©-

ì¶dgm{¶H$ à{ejU {Xbo OmUma.
~) ho à{ejU ghmì¶m dJm©nmgyZ {dÚmÏ¶mªZm {Xbo OmUma.
H$) emioVM EH$ 'pñH$b H$m°Z©a' ~ZdÊ¶mV ¶oB©b.
S>) ¶m à{ejUmgmR>r nmR>çH«$‘ ̂ monmb pñWV n§. gw§Xabmb e‘m© ì¶dgm{¶H$ {ejU g§ñWmZmÀ¶m ‘XVrZo V¶ma H$aÊ¶mV

Ambm Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Zmhr/V?
1) ’$º$ A Am{U H$ 2) ’$º$ ~ Am{U S> 3) ’$º$ S> 4) darbn¡H$s Zmhr

2) Consider the following statements.

a) According to the new education policy students will be given pre-vocational training in

government aided schools from the Academic Session 2023 — 24.

b) This training will be given to the students from class 6th onwards.

c) A ‘skill-corner’ will be made in the school itself.

d) The syllabus for this training has been prepared with the help of Bhopal, Pt. Sundarlal Sharma

Vocational Education Institute.

Which of the above statement/statements is/are not correct ?

1) Only a and c 2) Only b and d 3) Only d 4) None of the above

2) amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

1) H$moUË¶m H$m¶m©c¶mZo "ñdÀN>Vm gmaWr ’o$cmo{en 2022" Omhra Ho$cr ?
1) ZrVr Am¶moJ 2) ‘w»¶ d¡km{ZH$ g„mJma H$m¶m©c¶
3) Am¶. Am¶. Q>r. ‘Ðmg 4) J¥h{Z‘m©U Am{U ehar ì¶dhma ‘§Ìmc¶, H|$Ð emgZ

1) Which office has announced the Swachhta Sarathi Fellowship 2022?

1) Niti Aayog 2) Office of Chief Scientific Adviser

3) I. i. T. Madras 4) Ministry of Housing and Urban Affairs, Central Govt
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3) Amamo½¶ joÌmVrb KQ>Zm

1) ______`m§Zm EH${ÌVnUo O¡{dH$ àmo’$mBb åhUyZ g§~moYbo OmVo.
1) d`, qbJ, d§e Am{U C§Mr 2) d`, qbJ, Y‘© Am{U ì`dgm`
3) qbJ, d§e, Y‘© Am{U C§Mr 4) d`, d§e, ì`dgm` Am{U C§Mr

1) ______ are collectively referred to as the biological profile.

1) Age, sex, ancestry and stature 2) Age, sex, religion and occupation

3) Sex, ancestry, religion and stature 4) Age, ancestry, occupation and stature

2) H$maImZm A{Y{Z`‘ 1948 Zwgma, Á`m H$maImÝ`mV _____________ nojm OmñV H$m‘Jma gm‘mÝ`V… H$m ©̀aV
AgVmV, VoWo {d{hV AmH$mamMr é½Udm{hH$m Imobr CnbãY H$ê$Z {Xbr OmB©b, Á`m‘Ü ò {d{hV CnH$aUo AgVrb,
d¡ÚH$s` Am{U Z{gªJ H$‘©Mm`mªÀ`m à^mamV {d{hV Am{U H$m‘mÀ`m doioV Zoh‘r ghO CnbãY Agob.
1) 500 2) 200 3) 100 4) 250

2) As per Factories Act 1948, in every factory wherein more than _____________ workers are

ordinarily employed, there shall be provided and maintained an ambulance room of the prescribed

size, containing the prescribed equipment, in the charge of medical and nursing staff as prescribed

and shall always be readily available during working hours.

1) 500 2) 200 3) 100 4) 250

3) ‘hmamï´> H$maImZm {Z`‘, 1963 Zwgma, àË òH$ H$maImÝ`mVrb H$m‘Jmam§gmR>r {nÊ`mÀ`m nmÊ`mMo à‘mU H$maImÝ`mV
H$m ©̀aV Agboë`m àË òH$ H$m‘JmamgmR>r {H$‘mZ ____________ EH$ {Xdg Agbo nm{hOo Am{U Ago {nÊ`mMo nmUr
H$m‘ H$aVmZm Zoh‘r ghO CnbãY Agmdo. Vmg
1) 1 {bQ>a 2) 2 {bQ>a 3) 5 {bQ>a 4) 3 {bQ>a

3) As per Maharashtra Factories Rules, 1963, the quantity of drinking water to be provided for the

workers in every factory shall be at least ____________ a day per worker employed in the factory

and such drinking water shall be readily available at all times during working hours.

1) 1 litre 2) 2 litres 3) 5 litres 4) 3 litres

4) ì`mdgm{`H$ gwajm, Amamo½` Am{U H$m‘H$mOmÀ`m n[apñWVr g§{hVm, 2020 Zwgma, OoWo H$maImÝ`mV H$moUË`mhr
{R>H$mUr AnKmV Pmbm Á`m‘wio ‘¥Ë ỳ hmoVmo, qH$dm Á`m‘wio H$moUVrhr emar[aH$ XwImnV hmoVo Á`m‘wio OI‘r ì`º$sbm H$m‘
H$aÊ`mnmgyZ à{V~§{YV Ho$bo OmVo. AnKmVmZ§Va bJoMM šššššššššššš qH$dm Ë`mhÿZ A{YH$ H$mbmdYr, Ë`mZ§Va H$maImÝ`mMo {Z`moº$m
qH$dm ì`dñWmnH$, Aem A{YH$m`mªZm, `mo½` gaH$maZo {d{hV Ho$ë`mZwgma, Aem arVrZo Am{U Aem doioV Ë`mMr gyMZm
nmR>dVrb.
1) VrZ {Xdg 2) gmV {Xdg 3) Mmodrg Vmg 4) AÇ>oMmirg Vmg

4) As per, the Occupational Safety, Health and Working Conditions Code, 2020, where at any place

in a factory, an accident occurs which causes death, or which causes any bodily injury by reason

of which the injured person is prevented from working for a period of ____________ or more,

immediately following the accident, then employer or manager of the factory, shall send notice

thereof to such authorities, in such manner and within such time, as prescribed by the appropriate

Government.

1) three days 2) seven days 3) twenty-four hours 4) forty-eight hours
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5) ‘bo[a`m {Z‘y©bZmgmR>rÀ`m amï´>r` AmamIS>çmÀ`m C{Ôï>m§‘Ü ò `m{edm` gd© g‘m{dï> AmhoV:
1) 2022 n ª̀V 2014 ‘Ü ò loUr 1 Am{U 2 A§VJ©V Agboë`m gd© 26 amÁ ò/H|$Ðem{gV àXoem§‘Ü ò ‘bo[a`mMo

g§H«$‘U ì`Ë`` AmUbo OmB©b Am{U eyÝ` ñdXoer àH$aUo àmá hmoVrb
2) 2024 n ª̀V gd© amÁ ò Am{U H|$Ðem{gV àXoem§‘Ü ò ‘bo[a`mMo à‘mU à{V 1000 bmoH$g§» ò‘Ü ò 1 nojm H$‘r hmoB©b
3) 2027 n ª̀V ^maVmVrb gd© amÁ ò Am{U H|$Ðem{gV àXoem§‘Ü ò ‘bo[a`mMm ñdXoer àgma amoIbm OmB©b
4) 2033 n ª̀V g§nyU© XoemVyZ ‘bo[a`mMo CƒmQ>Z Ho$bo OmB©b Am{U g§H«$‘UmMr nwZñWm©nZm amoIbr OmB©b

5) The objectives of National framework for Malaria elimination includes ALL EXCEPT:

1) By 2022 transmission of malaria interrupted and zero indigenous cases to be attained in all 26

states/UTs that were under categories 1 and 2 in 2014

2) By 2024 incidence of malaria to be reduced to less than 1 case per 1000 population in all

states and UTs

3) By 2027 indigenous transmission of malaria to be interrupted in all states and UTs of India

4) By 2033 Malaria to be eliminated throughout the entire country and re-establishment of

transmission prevented

6) 2023 ‘Yrc amÁ¶mÀ¶m AW©g§H$ënm‘Ü¶o ‘hmË‘m Omo{Vamd ’w$co OZ Amamo½¶ ¶moOZoV CnMmamMr dm{f©H$ ‘¶m©Xm {H$Vr
aH$‘oZo dmT>{dÊ¶mMo Kmo{fV H$aÊ¶mV Amco Amho ?
A) én¶o 1 cmImdéZ 5 cmI ~) én¶o 1.50 cmImdéZ 5 cmI
H$) én¶o 2 cmImdéZ 4 cmI S>) én¶o 2.50 cmImdéZ 4 cmI
n¶m©¶r CÎmao :
1) ’$º$ H$ Am{U S> ~amo~a 2) ’$º$ ~ ~amo~a
3) ’$º$ S> ~amo~a 4) ’$º$ A, Am{U H$ ~amo~a

6) In the state budget of 2023, the annual limit of treatment in Mahatma Jyotirao Phule Jan Arogya

Yojana has been announced to increase by what amount?

a) 5 lakhs from Rs 1 lakh b) 5 lakhs from Rs 1.50 lakhs

c) 4 lakhs from Rs 2 lakhs d) 4 lakhs from Rs 2.50 lakhs

Answer options :

1) Only C and D are correct 2) Only B is correct

3) Only d is correct 4) Only a, and c are correct

7) H$mo{dS>-19 MmMUrgmR>r Jmoim Ho$bobm Z‘wZm MOHFW ‘mJ©Xe©H$ VÎdm§Zwgma H$moUË`m Vmn‘mZmbm à`moJemioV
nmR>dbm Omdm?
1) -300C 2) -40C 3) 2 Vo 80C 4) ImobrMo Vmn‘mZ

7) The specimen collected for COVID-19 testing should be transported to the lab at what temperature

as per MOHFW guidelines ?

1) -300C 2) -40C 3) 2 to 80C 4) Room temperature

8) Vrd« A{VgmamÀ`m àg§JmZ§Va 6 ‘{hÝ`m§nojm H$‘r d`mÀ`m ~mbH$m§gmR>r WHO Am{U UNICEF Ûmao {H$Vr qPH$
gpßb‘|Q>Mr {e’$mag Ho$br OmVo?
1) 10 {Xdgm§gmR>r XaamoO 20 {‘brJ«m‘ 2) 10 {Xdgm§gmR>r XaamoO 10 {‘brJ«m‘
3) 7 {Xdg 5 {‘J«° à{V{XZ 4) 7 {Xdg 6 {‘J«° à{V{XZ
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8) How much zinc supplement is recommended by WHO and UNICEF for infants less than 6 months

of age after an episode of acute diarrhoea ?

1) 20 mg per day for 10 days 2) 10 mg per day for 10 days

3) 5 mg per day for 7 days 4) 6 mg per day for 7 days

9) à{WZm§À`m H$‘VaVo‘wio ¹$m{eAmoaH$moa amoJ hmoVmo
1) 1 Vo 5 df} d`moJQ>mVrb ‘wbo 2) 4 Vo 7 df} d`moJQ>mVrb ‘wbo
3) 6 Vo 8 df} d`moJQ>mVrb ‘wbo 4) 2 Vo 8 df} d`moJQ>mVrb ‘wbo

9) Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years

3) children aged 6 to 8 years 4) children aged 2 to 8 years

10) AH$mbr ao{Q>Zmon°WrÀ`m ~m~VrV, Oa aº$d{hÝ`mg§~§Yr Am{U Aìh°ñŠ ẁba ao{Q>Zm `m§À`m‘Ü ò gr‘m§H$Z aofm {Xgbr, Va
Vr ______ Xe©dVo.
1) Q>ßnm 1 2) Q>ßnm 2 3) Q>ßnm 3 4) Q>ßnm 4

10) In case of Retinopathy of prematurity, if a demarcation line is seen between the vascular and

avascular retina, then it indicates ______.

1) Stage 1 2) Stage 2 3) Stage 3 4) Stage 4

11) A°{Z{‘`m ‘wº$ ^maV A§VJ©V {H$emoad`rZ ‘wbm§Zm H$moUË`m dma§dmaVoZo bmoh nyaH$ Amhma {Xbm OmVmo?
1) IFA Q>°ãboQ> (60 mg KQ>H$ bmoh + 500 mcg ’$m°{bH$ A°{gS>) gmám{hH$
2) IFA Q>°ãboQ> (100 mg KQ>H$ bmoh + 500 mcg ’$m°{bH$ A°{gS>) Xa ‘{hÝ`mbm
3) XaamoO 1 IFA Q>°ãboQ> 4) darbn¡H$s H$mhrhr Zmhr

11) Under Anaemia Mukt Bharat which iron supplementation is given to abdolescents with what

frequency ?

1) IFA tablet (60 mg elements iron + 500 mcg Folic Acid) weekly

2) IFA tablet (100 mg elemental iron + 500 mcg Folic Acid) every month

3) Daily 1 IFA tablet 4) None of the above

12) ‘w»¶‘§Ìr EH$ZmW qeXo ¶m§Zr ‘hmË‘m Á`moVramd ’w$bo OZ Amamo½¶ ¶moOZoMm (MPJAY) àr{‘¶‘ é. 1.5 bmI dê$Z
...... Ho$bo Amho.
1) é. 2 bmI 2) é. 3 bmI 3) é. 5 bmI 4) é. 10 bmI

12) The Chief Minister Eknath Shinde has increased the premium of the Mahatma Jyotirao Phule Jan

Arogya Yojana (MPJAY) from ¹ 1.5 lakh to ______.

1) Rs. 2 lakh 2) Rs. 3 lakh 3) Rs. 5 lakh 4) Rs. 10 lakh

13) 12 ì`m Am{W©H$ df© `moOZoA§VJ©V NHM gmR>r Imbrbn¡H$s gd© C{Ôï>o hmoVr.
1) IMR 25/1000 {Od§V OÝ‘m§n ª̀V H$‘r H$am 2) MMR 1/1000 {Od§V OÝ‘m§n ª̀V H$‘r H$am
3) TFR 1.2 n ª̀V H$‘r H$am 4) ‘bo[a`mMo dm{f©H$ à‘mU 1/1000 Agob

13) ALL of the following were the targets for NHM under 12th FY plan EXCEPT :

1) Reduce IMR to 25/1000 live births 2) Reduce MMR to 1/1000 live births

3) Reduce TFR to 1.2 4) Annual malaria incidence to be 1/1000
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14) WHO À`m ‘Vo JamoXanUmV Aeº$nUm åhUOo {h‘mo½bmo{~Z ........ J«°‘/100 ml qH$dm Ë`mhÿZ H$‘r AgVmZm.
1) 9 J«°‘/100 {‘br 2) 10 J«°‘/100 {‘br 3) 11 J«°‘/100 {‘br 4) 12 J«°‘/100 {‘br

14) According to WHO anaemia in pregnancy is when the haemoglobin is ........ gms/100 ml or less.

1) 9 gms/100 ml 2) 10 gms/100 ml 3) 11 gms/100 ml 4) 12 gms/100 ml

15) S>moHo$ XwImnV ‘Ü`‘ åhUyZ dJuH¥$V Ho$br OmVo, Oa ½bmgJmo H$mo‘m ñHo$b (GCS) ñH$moAa _______ Agob.
1) LOC gh GCS 14 qH$dm 15 2) GCS 9 - 13
3) GCS 3 - 8 4) GCS < 3

15) A head injury is classified as Moderate, if the Glasgow coma scale (GCS) score is ______.

1) GCS 14 or 15 with LOC 2) GCS 9 - 13

3) GCS 3 – 8 4) GCS < 3

16) `mo½` n`m©̀ m§gh [aº$ OmJm ^am.
EMAm`ìhr g§gJm©Mo {ZXmZ d`mÀ`m ______ Ûmao {ZpíMVnUo Ho$bo OmD$ eH$Vo Am{U OdiOdi gd© g§H«${‘V
A ©̂H$m§‘Ü ò d`mÀ`m ______ n ª̀V.
1) 10 {Xdg; 6 AmR>dS>o 2) 2 AmR>dS>o; 3 AmR>dS>o 3) 2 ‘{hZo; 4 ‘{hZo 4) 1 ‘{hZm; 6 ‘{hZo

16) Fill in the blanks with appropriate options.

HIV infection can be diagnosed definitively by ______ of age and in virtually all infected infants

by ______ of age.

1) 10 days; 6 weeks 2) 2 weeks; 3 weeks 3) 2 months; 4 months 4) 1 month; 6 months

17) `mXr-I ‘Yrb amoJ Am{U `mXr-II ‘Yrb Cî‘m`Z H$mbmdYr {dMmamV ¿`m.
`mXr-I (amoJ) `mXr-II (Cî‘m`Z H$mbmdYr)
A) Jmoda 1) 30-180 {Xdg
B) {S>ßWr[a`m 2) 10-50 {Xdg
C) {hn°Q>m`Q>rg A 3) 10-14 {Xdg
D) {hn°Q>m`Q>rg B 4) 2-6 {Xdg
Imbrbn¡H$s `mo½` OwiUr H$moUVr?
n¶m©¶r CÎmao …

1) 2) 3) 4) 

17) Consider the diseases in List-I and incubation period in List-II.

List-I (Diseases) List-II (incubation period)

A) Measles 1) 30-180 days

B) Diphtheria 2) 10-50 days

C) Hepatitis A 3) 10-14 days

D) Hepatitis B 4) 2-6 days

Which of the following is a correct match ?

Answer Options :

1) 2) 3) 4) 
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18) EH$ 28 dfmªMr ‘{hbm EH$ ~¡R>r H$m‘Jma Amho. Vr 3 ‘{hÝ`m§À`m ‘wbmgh ñVZnmZ H$aUmar AmB© Amho. à{V{XZ
{H$bmoH°$barOÀ`m eoVmV {Vbm A§XmOo D$O}Mr JaO Imbrbn¡H$s H$moUVr Amho?
1) 1500 kcal/{Xdg 2) 2250 kcal//{Xdg 3) 2500 kcal//{Xdg 4) 2830 kcal//{Xdg

18) A 28 year old woman is a sedentary worker. She is a lactating mother with 3 month old child.

Which of the following is her approximate energy requirement in farms of kilocalories per day ?

1) 1500 kcal/day 2) 2250 kcal/day 3) 2500 kcal/day 4) 2830 kcal/day

19) NUHM {Z`‘m§Zwgma, àË òH$ _______ bmoH$g§» òÀ`m nmohmoM godm§gmR>r EH$ ANM Amdí`H$ Amho.
1) 250 2) 500 3) 1000 4) 10000

19) Under the NUHM norms, one ANM is essential for outreach services of every ______ population.

1) 250 2) 500 3) 1000 4) 10000

20) EH$ gm‘wXm{`H$ Amamo½` H|$Ð ...... bmoH$g§» òMm g‘mdoe H$aVo.
1) 3,00,000-5,00,000 2) 80,000-1,20,000
3) 50,000-70,000 4) 20,000-30,000

20) One Community Health Centre covers a population of .......

1) 3,00,000-5,00,000 2) 80,000-1,20,000

3) 50,000-70,000 4) 20,000-30,000

21) 2011 ‘Ü¶o ............ ‘Yrc ~mc ‘¥Ë¶yXa gdm©{YH$ hmoVm.
1) Amgm‘ 2) npíM‘ ~§Jmc  3) amOñWmZ 4) ‘Ü¶àXoe

21) The Infant Mortality Rate (IMR) was highest in 2011 in ......

1) Assam 2) West Bengal 3) Rajasthan 4) Madhya Pradesh

22) àmo. Ama. S>r. H$d} ¶m§Zr 1925 ‘Ü¶o n{hco g§VVr {Z¶‘Z H|$Ð H$moUË¶m ehamV gwé Ho$co ?
1) nwUo 2) ‘w§~B© 3) R>mUo 4) Hw$cm~m

22) In which city did Prof. R. D. Karve start the first family planning centre in 1925?

1) Pune 2) Mumbai 3) Thane 4) Kulaba

Am¡fYo d agm¶Zo

1) Imbrb Am¡fYm§n¡H$s pìhQ>°{‘Z Ho$ {damoYr A±{Q>H$moA°Jwb§Q> åhUOo -
1) EZmoŠgmn[aZ 2) S>mëQ>on[aZ 3) dm°a’o$[aZ 4) hon[aZ

1) One among the following drug is a Vitamin K antagonist anticoagulant.

1) Enoxaparin 2) Dalteparin 3) Warfarin 4) Heparin

2) Imbrbn¡H$s H$moUVo [aìh{g©~b H$m~m©‘oQ> BZ{h{~Q>a Am¡fY AëPm`‘a amoJmÀ`m CnMmamgmR>r dmnabo OmVo?
1) Q>°{H«$Z 2) J°b§Q>m‘mBZ 3) [admpñQ>½‘mBZ 4) S>moZono{Pb

2) Which among the following drug is a reversible carbamate inhibitor used for the treatment of

Alzheimer disease ?

1) Tacrine 2) Galantamine 3) Rivastigmine 4) Donepezil
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3) [agoßQ>aàVr A{VCƒ AmH$f©U Am{U Cƒ Am§V[aH$ {H«$`mj‘Vm Agbobo Am¡fY åhUOo ......
1) A°°Jmo{ZñQ> 2) {damoYr 3) Am§{eH$ A°°Jmo{ZñQ> 4) CbQ> A°°Jmo{ZñQ>

3) A drug with high affinity for receptor and high intrinsic activity is a/an .......

1) Agonist 2) Antagonist 3) Partial agonist 4) Inverse agonist

4) ..... hr Am¡fYo ‘Ü¶dVu ‘‚mmg§ñWm, nMZg§ñWm ¶m§À¶mdarb g§doXr MoVmV§VyÀ¶m Q>moH$mda ~Õ amhVmV.
1) H°$Þm{~Zm°B©S>g 2) Amo{nAm°B©S²>g 3) ‘m°{’©$Z 4) H$moH$m-AëH$bm°B©S>g

4) .... are drugs which bind to receptors present in central nervous system and gastro-intestinal-tract.

1) Cannabinoids 2) Opioids 3) Morphine 4) Coca-alkaloids

5) ñnm¶Zb H$m°S>©À`m g^modVmbÀ`m g~A°a°ŠZmoBS> ñnog‘Ü ò ........... Q>moMbr OmVmV.
1) no[aS>çyab B§OoŠeÝg 2) B§Q´mgoao~«b B§OoŠeÝg 3) B§Q´mH$m{S>©̀ mH$ B§OoŠeÝg 4) B§Q´mWoH$b B§OoŠeÝg

5) .............. are made into subarachnoid space that surrounds the spinal card.

1) Peridural injections 2) Intracerebral injections

3) Intracardiac injections 4) Intrathecal injections

6) Ivermectin ho Am¡fY ......... dJiVm BVa gd© CnMmam§gmR>r dmnabo OmVo
1) IéO 2) {eñQ>mogmo{‘`m{gg 3) ñQ´m°ÝJmBbm°BS>m`{gg 4) EñHo$[a`m{gg

6) Ivermectin is used for treatment of all except

1) Scabies 2) Schistosomiasis 3) Strongyloidiasis 4) Ascariasis

7) Imbrbn¡H$s H$moUVo Am¡fY l²dgZ{H«$¶oMm doJ ‘§XmdÊ¶mg H$maUr ŷV Amho ?
1) ’o$Zmo{W`m{PZ 2) boìhmoS>monm 3) ñQ´m`ŠZmB©Z 3) Šbmo{ZS>mBZ

7) Which drug among the following is known to cause respiratory depression ?

1) Phenothiazine 2) Levodopa 3) Strychnine 3) Clonidine

8) ImoH$ë`mnmgyZ Amam‘ {‘iÊ`mgmR>r H$moUVm nmVi nXmW© dmnaVmV ?
1) {b{Z‘|Q²g 2) E{bŠgg© 3) qbŠQ>g 4) JmJ©ëg

8) .......... are viscous liquid oral preparations that are generally prescribed for the relief of cough.

1) Liniments 2) Elixirs 3) Linctus 4) Gargles

9) ......... H$sQ>H$ZmeH$m§Mo godZ Ho$ë`mZo, Jm~m GABA ào[aV BZ{h{~Q>ar ŠbmoamB©S> M°Zobbm à{V~§Y Pmë¶m‘wio, àmUKmVH$
{H«$`m hmoVo.
1) H$m~m©‘oQ> 2) ½bm`’$mogoQ> 3) Am°J©Zmo’$m°ñ’$ag 4) nm`aoW«m°BS>

9) The ingestion of ......... insecticides causes lethal action by inhibition of GABA mediated inhibitiory

chloride channel.

1) Carbamate 2) Glyphosate 3) Organophosphorus 4) Pyrethroid

10) ‘oQ´mo{ZS>mPmob~Ôb Imbrbn¡H$s H$moUVo {dYmZ Iao Amho?
1) ‘oQ´mo{ZS>mPmob ~hþVoH$ Eamo{~H$ ~°ŠQ>o[a`m{dê$Õ CËH¥$ï> {H«$`mH$bmn àX{e©V H$aVo
2) Ë`mV A°Zmamo{~H$ ~°ŠQ>o[a`m{dê$Õ {H«$`mH$bmn ZgVmo. A{YJ«hrV à{VH$ma gm‘mÝ` Amho
3) ‘oQ´mo{ZS>mPmob ho EH$ Zm`Q´mo{‘S>mPmob Amho Á`m‘Ü ò naOrdr {déÕ ì`mnH$ {H«$`m Amho
4) R>amdrH$ S>mog 250-500 {‘J«° {XdgmVyZ EH$Xm, B§Q´m‘ñ³ ẁca qH$dm Vm|S>r ‘mJm©Zo AgVmV.
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10) Which of the following statement is true about Metronidazole?

1) Metronidazole displays excellent activity against most aerobic bacteria

2) It lacks activity against anaerobic bacteria. Acquired resistance is common

3) Metronidazole is a nitroimidazole with broad activity against parasites

4) Typical doses are 250–500 mg once daily, via the intramuscular or oral routes.

11) MwH$sÀ`m nÕVrZo Owibobr OmoS>r AmoiIm.
1) Q´m`âbw[aS>mBZ - ZoÌamoJ 2) {gS>mo’$mopìha - B§Q´mìhoZg
3) ’$mo{‘{dagoZm - B§Q´>mpìh{Q´Ab 4) PmZm{‘dra - ñWm{ZH$

11) Identify the wrongly matched pair.

1) Trifluridine - ophthalmic 2) Cidofovir - Intravenous

3) Fomivirsena - Intravitreal 4) Zanamivir - Topical

12) MwH$sÀ`m nÕVrZo Owibobr OmoS>r AmoiIm.
1) n{hbr {nT>r - Cefazolin 2) Xwgar {nT>r - Cefotaxime

3) {Vgar {nT>r - Ceftibuten 4) A±Q>r-E‘AmaEgE {g’°$bmoñnmo[aZ - goâQ>amo{bZ
12) Identify the wrongly matched pair.

1) First generation - Cefazolin 2) Second generation - Cefotaxime

3) Third generation - Ceftibuten 4) Anti-MRSA cephalosporins - Ceftaroline

13) {’$Zmo~m{~©Q>b ho `mgmR>r à^mdr KQ>H$ Zmhr :
1) gm‘mÝ`rH¥$V Q>m°{ZH$-Šbmo{ZH$ 2) ’$moH$b-Qy>-{Ûnjr` Q>m°{ZH$-Šbmo{ZH$
3) kmV àma§̂ mMo Q>m°{ZH$-Šbmo{ZH$ 4) ’$moH$b {gPa

13) Phenobarbital is NOT an effective agent for :

1) generalized tonic-clonic 2) focal-to-bilateral tonic-clonic

3) tonic-clonic of known onset 4) focal seizures

14) hoëWHo$Aa àmo’o$eZb Am{U gmWrÀ`m BÝâbyE§Pm A (H1N1) À`m g§e{`V qH$dm nwï>r Pmboë`m àH$aUmÀ`m OdiÀ`m
g§nH$m©Vrb Ho$‘moàmo{’$bopŠgggmR>r {ZdS>bobo Am¡fY Amho ...........
1) PmZm{‘dra 2) AmogoëQ>m{‘dra 3) [a~m{d[aZ 4) A‘m§Q>mS>rZ

14) The drug of choice for chemoprophylaxis to healthcare professional and close contacts of

suspected or confirmed case of pandemic influenza A (H1N1) is ...........

1) Zanamivir 2) Oseltamivir 3) Ribavirin 4) Amantadine

15) Ý ỳamo A°pŠQ>ìh H$m°Z ñZob Q>m°pŠgZMr qgWo{Q>H$ àV Agbobo Zm°Z-Amo{nAmoBS> A°°ZmëOo{gH$ Am¡fY .....
1) {PH$moZmoQ>mBS> 2) ’|$Q>°{Zb 3) Sw>âbw{Zgb 4) BQ>moS>mobmH$

15) The non-opioid analgesic Which is a synthetic copy of neuro active con snail toxin is .........

1) Ziconotide 2) Fentanyl 3) Duflunisal 4) Etodolac

16) ao qgS´mo‘ hmoÊ¶mMm YmoH$m Agë¶m‘wio H$moUVo Am¡fY {Xbo OmV Zmhr ?
1) A°pñn[aZ 2) gwqbS°>H$ 3) B§S>mo‘oWo{gZ 4) Ho$Q>moamobmH$

16) The drug which is contraindicated due to the possible association with Reye Syndrome is ..........

1) Aspirin 2) Sulindac 3) Indomethacin 4) Ketorolac
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17) Imbrb Am¡fYm§n¡H$s ...... ho ao{ZZ BZ{h{~Q>a Amho
1) Q°́ÝS>mobm{àb 2) B~}gQ>©Z 3) A{bñH$saZ 4) ’$m°{gZmo{àb

17) One among the following drug is a direct renin inhibitor

1) Trandolapril 2) Irbesartan 3) Aliskiren 4) Fosinopril

18) Imbrb A±Q>r’§$Jëgn¡H$s H$moUVo Am¡fY ~waerÀ`m noerÀ`m q^Vr‘Ü ò ½bwH$m°Z {Z{‘©Vrg à{V~§Y H$aVo?
1) A°{bbm‘mBÝg 2) nm°{bZog 3) E{H$ZmoH±{S>Ýg 4) APmob

18) Which drug among the following antifungals act by inhibiting the formation of glucan in fungal

cell wall ?

1) Allylamines 2) Polyenes 3) Echinocandins 4) Azoles

19) ""A°pñn[aZ'' Mo amgm¶{ZH$ Zmd..........
1) Amo-A°go{Q>b g°{c{g{cH$ A°{gS> 2) Amo-BWmB©b g°{c{g{cH$ A°{gS>
3) Amo-{‘WmB©b g°{c{g{cH$ A°{gS> 4) Amo-~|Pm°B©b g°{c{g{cH$ A°{gS>

19) Chemical name of aspirin is

1) O-Acetyl Salicylic Acid 2) O-Ethyl Salicylic Acid

3) O-Methyl Salicylic Acid 4) O-Benzoyl Salicylic Acid

20) A±{Q>‘Zr g§¶wJm§Mr ............ À¶m CnMmam§gmR>r dmnaÊ¶mMr {e’$mag Ho$br OmVo.
1) E{b’§$Q>m¶{gg 2) ’°${gAmobmopßg¶m{gg 3) {gñQ>mo{‘¶m{gg 4) darbn¡H$s H$mhrhr Zmhr

20) Antimony compounds are recommended for the treatment of

1) Elephantiasis 2) Fasciolopsiasis 3) Schistomiasis 4) None of the above

21) nr. ’$mëgrnoa‘À`m Jw§VmJw§VrÀ`m àH$aUm§da CnMmam§gmR>r CnMmamMo doimnÌH$ H$m` Amho?
1) ACT + Primaquine 2) Chloroquine + Quinine + Doxycycline

3) n°am{gQ>m‘m°b + Šbmoamo¹$sZ 4) darbn¡H$s H$mhrhr Zmhr
21) What is the treatment schedule for treatment of uncomplicated P. Falciparum cases ?

1) ACT + Primaquine 2) Chloroquine + Quinine + Doxycycline

3) Paracetamol + Chloroquine 4) None of the above

22) Am`moS>rZMm dmna Imbrbn¡H$s H$moUË`m AmnËH$mbrZ {ZOªVwH$sH$aUmgmR>r Ho$bm OmD$ eH$Vmo?
a) nmUr b) {dð>m c) bKdr d) ËdMm
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U d ’$º$ 3) a, c Am{U d ’$º$ 4) a, b Am{U c ’$º$

22) Iodine may be used for emergency disinfection of which of the following ?

a) Water b) Faeces c) Urine d) Skin

Answer Options :

1) a only 2) a and d only 3) a, c and d only 4) a, b and c only

23) ______ À`m Cƒ-ñVar` àXe©Zm‘wio {‘Zm‘mQ>m amoJ hmoVmo.
1) {‘WmBb nmam 2) mercuric oxide 3) YmVyMm nmam 4) nmam gm`ZmBS>

23) The high-level exposure to ______ causes Minamata disease.

1) methyl mercury 2) mercuric oxide 3) metallic mercury 4) mercury cyanide
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24) {nÊ`mÀ`m nmÊ`mV âbmoamB©S>Mo à‘mU OmñV Agë`mZo Amamo½`mda H$m` n[aUm‘ hmoVmV?
1) ’w$â’w$gmMo AmOma 2) öX`amoJ 3) âbmoamo{gg 4) ËdMm amoJ

24) What are the health effects of excess fluoride content in drinking water ?

1) Lung diseases 2) Heart disease 3) Fluorosis 4) Skin diseases

25) àmo’$mBbÀ`m H$mhr ^mJmV nO©Ý` Am{U H°$pëe`‘ H$m~m}ZoQ> O‘m hmoÊ`mÀ`m à{H«$ òbm Ago åhUVmV.
1) nm°S>Pmobm`PoeZ 2) H$m~m}ZoeZ 3) H°$pëe{’$Ho$eZ 4) {S>H°$pëe{’$Ho$eZ

25) Process of precipitation and accumulation of calcium carbonate in some part of the profile is

termed as

1) Podzolization 2) Carbonation 3) Calcification 4) Decalcification

26) 'E§Ob S>ñQ>' hm eãX ....... ‘mXH$ nXmWm©Mo ì¶gZ H$aUmè¶mgmR>r dmnabm OmVmo.
1) ’o$Zgm`ŠbrS>mBZ 2) S>m`‘o{Wb{Q´ßQ>m‘mBZ
3) ‘oñH$bmBZ 3) Q>°{H«$Z

26) The synonym 'Angel Dust' is referred by addicts for .......... drug.

1) Phencyclidine 2) Dimethyltryptamine

3) Mescaline 3) Tacrine

27) A±{Q>S>moQ>Mr MwH$sMr OmoS>r Am{U Ë`m§Mo {df~mYm g§Ho$V AmoiIm.
1) ~|PmoQ´mo{nZ - S´J-ào[aV S>m`ñQ>mo{Z`m ({S>’o$Zhm`S°́{‘Z)
2) {S>’o$amoŠgm‘mBZ - bmoh
3) no{Z{gbm‘mBZ - Amo{nAmoBS²g
4) hm`S´moŠgmoH$mo~mbm{‘Z hm`S´moŠbmoamBS> - gm`ZmBS>

27) Identify incorrect pair of Antidote and their poisoning indications.

1) Benztropine - Drug-induced dystonia (diphenhydramine)

2) Deferoxamine - Iron

3) Penicillamine - Opioids

4) Hydroxocobalamin hydrochloride - Cyanide

28) Imbrbn¡H$s gd© B{WbrZ Am°ŠgmB©S>Mr d¡{eï²> ò AmhoV.
1) hm 10.7°C À`m CH$iË`m q~Xygh AË §̀V ôXH$ dm ỳ Amho.
2) ho à{WZ aoUy§‘Ü ò A{‘Zmo, H$m~m}pŠgb, hm`S´m°pŠgb Am{U gë’$mhm`{S´b JQ>m§Mo AëH$m`boQ> H$ê$Z H$m ©̀ H$aVo.
3) ho Imoë`m YwÊ`mgmR>r gdm©V `mo½` Amho.
4) ho {deofV… öX` {ZOªVwH$sH$aUmgmR>r dmnabo OmVo - ’w$â’w$gmMr ‘erZ, ídgZ §̀Ì.

28) ALL of the following are characteristics of Ethylene oxide EXCEPT :

1) IIt is a highly penetrating gas with a boiling point of 10.7°C.

2) It acts by alkylating the amino, carboxyl, hydroxyl and sulfhydryl groups in protein molecules.

3) It is most suitable for fumigating rooms.

4) It is especially used for sterilising heart – lung machines, respirators.

29) aopŠQ>’$mBS> pñn[aQ>Mm dmna Imbrbn¡H$s H$moUË`m ~m~VrV pìhgoamÀ`m g§ajUmgmR>r Ho$bm OmVmo?
1) AëH$mohmob {df~mYm 2) {’$Zm°b {df~mYm
3) {ZH$moQ>rZ {df~mYm 4) n°ampëS>hmBS> {df~mYm
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29) Rectified Spirit is to be used in the preservation of viscera in which of the following case?

1) Alcohol Poisoning 2) Phenol Poisoning

3) Nicotine Poisoning 4) Paraldehyde poisoning

30) Imbrbn¡H$s gd© S>mB©OÀ`m A°{Z{bZ JQ>mer g§~§{YV AmhoV.
1) M‘H$Xma {hadm 2) ‘°bmH$mBQ> {hadm 3) {H«$ñQ>b ìhm¶moboQ> 4) àmoâbopìhZ

30) ALL of the following belongs to Aniline group of dyes EXCEPT:

1) Brilliant green 2) Malachite green 3) Crystal violet 4) Proflavine

31) XmVm§À`m n¥ð>^mJmÀ`m ñdÀN>VogmR>r Qy>W~«eÀ`m ‘XVrZo .......... bmdbo OmVmV.
1) S>pñQ>§J nmdS>a 2) g{O©H$b nmdS>a 3) S|>{Q>{’«$gog 4) BÝgwâboeZ

31) ........... are applied with the help of a tooth brush for cleaning the surface of the teeth.

1)  Dusting powder 2) Surgical powder 3) Dentifrices 4) Insufflations

32) ’$m°‘©pëS>hmBS> {df~mYoàg§Jr amgm¶{ZH$ {ZpîH«$¶Vm gmÜ¶ H$aÊ¶mgmR>r, Oa CnMmamXaå¶mZ A‘mo{Z`m dmnabm Va
......... Mr {Z{‘©Vr hmoVo.
1) n|Q>m{WbrZ hoŠgm‘mBZ 2) hoŠgm‘o{WbrZ Q>oQ´m‘mBZ 3) Q>oQ´m{WbrZ Q´m`‘mBZ 3) S>m`{WbrZ Q´m`‘mBZ

32) During the chemical inactivation of formaldehyde poisoning, treatment with ammonia produces

.........

1) Pentaethylene hexamine 2) Hexamethylene tetramine

3) Tetraethylene triamine 3) Diethylene triamine

33) K2 ho ¶m {S>Pm`Za Am¡fYm§Zm {Xbobo Zmd Amho:
1) qgWo{Q>H$ H°${WZmoÝg 2) E°å’o$Q>m‘mBÝg 3) qgWo{Q>H$ H°$Zm{~Zm°BS²g 4) Ho$Q>m‘mBÝg

33) K2 is the street name given to the designer drugs:

1) synthetic cathinones 2) amphetamines

3) synthetic cannabinoids 4) ketamines

34) åherÀ`m XwYm~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) JmB©À`m XwYmÀ`m Ma~rnojm åherÀ`m XwYmÀ`m ’°Q>‘Ü ò g°nmo{Z{’$Ho$eZ ìh°ë ỳ Am{U {dViÊ`mMm q~Xy OmñV AgVmo.
b) JmB©À`m XwYmMr Ma~r åherÀ`m XwYmÀ`m Ma~rnojm ã ẁ{Q>[aH$ Am{U Amo{bH$ E°{gS>‘Ü ò OmñV AgVo.
c) åherÀ`m {‘goba Ho${gZÀ`m H$Um§Mm AmH$ma JmB©À`m ‘m`Ho$bnojm ‘moR>m AgVmo
n¶m©¶r CÎmao …
1) a Am{U c ~amo~a AmhoV 2) b Am{U c ~amo~a AmhoV
3) a Am{U b ~amo~a AmhoV 4) gd© MwH$sMo AmhoV

34) Which of the following statements are correct about buffalo milk ?

a) Buffalo milk fat has a higher saponification value and melting point than cow milk fat.

b) Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.

c) The particle size of buffalo miscellar casein is larger than that of cow micelle

Answer options :

1) a and c are correct 2) b and c are correct

3) a and b are correct 4) All are incorrect
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35) XwYmV Ma~rMo à‘mU `mo½` H«$‘mZo {ZdS>m.
1) ‘|T>rMo XyY < åherMo XyY < eoirMo XyY < ‘mUgmMo XyY
2) ‘|T>rMo XyY > åherMo XyY > Jm`rMo XyY = ‘mUgmMo XyY
3) ‘|T>rMo XyY > åherMo XyY > eoirMo XyY > ‘mUgmMo XyY
4) ‘|T>rMo XyY > åherMo XyY > JmB©Mo XyY < ‘mUgmMo XyY

35) Choose the correct order of fat content in the milk.

1) Sheep’s milk < Buffalo’s milk < Goat’s milk < Human’s milk

2) Sheep’s milk > Buffalo’s milk > Cow’s milk = Human’s milk

3) Sheep’s milk > Buffalo’s milk > Goat’s milk > Human’s milk

4) Sheep’s milk > Buffalo’s milk > Cow’s milk < Human’s milk

36) Šbm°qQ>J ’°ŠQ>a, ’°ŠQ>a IX AÝ`Wm ........... åhUyZ AmoiIbm OmVmo.
1) p¼g‘g ’°ŠQ>a 2) hoJo‘Z ’°ŠQ>a 3) b°{~b ’°ŠQ>a 4) ñQw>AQ>© àmoda ’°ŠQ>a

36) The clotting factor, Factor IX is otherwise known as ...........

1) Christmas Factor 2) Hageman Factor

3) Labile Factor 4) Stuart Prower Factor

37) Oiboë`m é½UmÀ`m nwZéËWmZmgmR>r gm‘mÝ`V… dmnabo OmUmao H$mocmB©S> Ðd ______ Amho.
1) [a¨Ja b°ŠQ>oQ> 2) S>oŠñQ´moO gbmB©Z
3) ‘mZdr Aëã ẁ{‘Z gmoë ỳeZ (HAS) 4) gm‘mÝ` gbmB©Z

37) The commonly used colloid fluid for resuscitation in a burns patient is ______.

1) Ringer’s lactate 2) Dextrose saline

3) Human Albumin Solution (HAS) 4) Normal saline

38) ......... ho ‘mZdr earamVrb ‘w»` {‘ZabH$m°{Q©>H$m°BS> Amho.
1) goamoQ>mo{ZZ 2) A°ëS>moñQ>oam°Z 3) H$mo{Q©>gmob 4) A°§S´moOZ

38) ......... is the main mineralocorticoid in humans.

1) Serotonin 2) Aldosterone 3) Cortisol 4) Androgen

39) ao~rO Bå ẁZmo½bmo~w{bZ g§~§Yr Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
a) nmoñQ> EŠgnmoOa àmo{’$b°pŠgg gwê$ Ho$ë`mZ§Va eŠ` {VVŠ`m bdH$a EH$XmM àem{gV Ho$bo nm{hOo.
b) ho gd© OI‘oÀ`m {R>H$mUr qH$dm Amgnmg àem{gV Ho$bo nm{hOo.
c) Amdí`H$ Bå ẁZmo½bmoã ẁ{bZ àem{gV H$aÊ`mnydu ËdMm MmMUr H$aÊ`mgmR>r H$moUVohr d¡km{ZH$ H$maU Zmhr.
d) A±Q>r ao~rO bgrMm n{hbm S>mog {Xë`mZ§Va 15 {Xdgm§Zr ho {’$b àem{gV Ho$bo OmD$ eH$Vo.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U d ’$º$ 4) a, b Am{U c ’$º$

39) Which of the following statements regarding rabies immunoglobulin is/are true ?

a) If should be administered only once as soon as possible after initiation of post exposure

prophylaxis.

b) It should be administered all into or around the wound sites.

c) There is no scientific ground for performing a skin test prior to administering required

immunoglobulin.

d) It can be administered fill 15 days after the first dose of anti rabies vaccine.

Answer Options :

1) a only 2) a and b only 3) a, b and d only 4) a, b and c only
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40) n±Q>mìh°b|Q> bg Imbrbn¡H$s H$moUË`m amoJmnmgyZ g§ajU XoVo?
1) {S>ßWr[a`m, noQ>çw©{gg, j`amoJ, Jmoda Am{U {hn°Q>m`Q>rg ~r
2) {S>ßWr[a`m, noQ>çw©{gg, {Q>Q>°Zg, {hn°Q>m`Q>rg ~r Am{U EMAm`~r
3) {S>ßWr[a`m, noQw>©{gg, Jmoda, {hn°Q>m`Q>rg ~r Am{U é~obm
4) {S>ßWr[a`m, noQ>çw©{gg, Jmoda, {hn°Q>m`Q>rg ~r Am{U EMAm`~r.

40) Pantavalent vaccine provides protection against which of the following disease ?

1) Diphtheria, Pertussis, Tuberculosis, Measles and Hepatitis B

2) Diphtheria, Pertussis, Tetanus, Hepatitis B and Hib

3) Diphtheria, Pertussis, Measles, Hepatitis B and Rubella

4) Diphtheria, Pertussis, Measles, Hepatitis B and Hib.

41) Imbrbn¡H$s H$moUË`m H$‘VaVo‘Ü ò Ho$gm§Mo Po~«m pñQ´qnJ d¡{eï²>`nyU©nUo AmT>iVo?
1) OñV 2) ’°$Q>r A°{gS> 3) ~m`mo{Q>Z 4) pìhQ>°{‘Z E

41) In which of the following deficiency, zebra stripping of hair is characteristically found?

1) Zinc 2) Fatty acid 3) Biotin 4) Vitamin A

42) ‘°¾o{e`‘ g§~§{YV Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) hm hmS>m§Mm KQ>H$ Amho.
b) H°$pëe`‘ Am{U nmoQ>°{e`‘À`m gm‘mÝ` M`mnM`gmR>r ho Amdûm`H$ Amho
c) àm¡T>m§gmR>r XaamoO ‘°¾o{e`‘Mr Amdûm`H$Vm 340 {‘J«°/{Xdg AgÊ`mMm A§XmO Amho.
d) ‘mZdr àm¡T> earamV gw‘mao 50 J«°‘ ‘°¾o{e`‘ AgVo
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

42) Which of the following statements regarding magnesium is/are true ?

a) It is constituent of bones.

b) It is essential for normal metabolism of calcium and potassium

c) Daily requirement of magnesium is estimated to be 340 mg/day for adult.

d) Human adult body contains about 50 gms of magnesium

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

43) ~aJS>çm H$mnÊ`mgmR>r Am{U djñWimMr nmoH$ir CKS>Ê`mgmR>r Imbrbn¡H$s H$moUVm dmna Ho$bm OmVmo?
1) H$m°ñQ>moQ>mo‘ 2) EÝQ>amoQ>mo‘
3) Metzenbaum H$mÌr 4) H°$pëQ>Z MmHy$

43) Which of the following is used to for cutting the ribs and opening the thoracic cavity?

1) Costotome 2) Enterotome

3) Metzenbaum scissors 4) Caltin knife
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‘hÎdmMo amoJ

1) WHO Ûmao Amamo½`m‘Ü ò H¥${Ì‘ ~w{Õ‘Îmm Omar Ho$bobr VÎdo. Imbrbn¡H$s H$moUVo VËd Iao AmhoV?
a) ‘mZdr eara aMZm g§ajU
b) ‘mZdr H$ë`mU, gwa{jVVm Am{U gmd©O{ZH$ {hV `m§Zm àmoËgmhZ XoUo
c) nmaXe©H$Vm, ñnï>rH$aU Am{U gwJ‘Vm gw{ZpíMV H$aUo
d) AZÝ`Vm Am{U Ag‘mZVm gw{ZpíMV H$aUo
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) a, b Am{U c 4) ’$º$ d

1) Principles issued by WHO artificial intelligency in health. Which of the following principles are

true ?

a) Protecting human anatomy

b) Promoting human well being, safety and public interest

c) Ensuring transparency, explainability and intelligibility

d) Ensuring exclusiveness and inequality

Answer Options :

1) a only 2) a and b only 3) a, b and c 4) d only

2) Imbrbn¡H$s H$moUVo gmoam`{gg ~Ôb VÏ` Xe©dV Zmhr?
1) Oa nmbH$m§n¡H$s EH$mbm ~m{YV Pmbo Agob Va ‘wbmbm hm AmOma hmoÊ`mMr 50% eŠ`Vm AgVo
2) goë ẁba KwgImoar gm‘mÝ`V: {bå’$mogmB{Q>H$ AgVo
3) Zob {nqQ>J {S>ñQ>b B§Q>a’o$b|{O`b AmW«m}n°Wrer g§~§{YV Amho
4) gw‘mao 5% é½U AmW«m}n°Wr {dH${gV H$aVmV

2) Which among the following do NOT represents fact about psoriasis?

1) If one of the parents is affected, then the child has 50% chance of developing the disease

2) Cellular infiltrate is typically lymphocytic

3) Nail pitting is associated with distal interphalangeal arthropathy

4) About 5% of patient develop arthropathy

3) KamVrb dm ỳ àXyfUm‘wio ho {dH$ma hmoVmV -
A) ’w$â’w$gmMm H$H©$amoJ ~) Ý ỳ‘mo{Z`m H$) j`amoJ S>) A§YËd
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

3) Indoor air pollution causes -

a) Lungs cancer b) Pneumonia c) Tuberculosis d) Blindness

Which of the statement given above is/are correct ?

1) a only 2) b only 3) a, b and c only 4) a, b, c and d

4) S>m§½¶m ImoH$bm hm AmOma H$moUË¶m {OdmUyÀ`m g§gJm©‘wio hmoVmo ?
1) ñQ>°{’$bmoH$moH$g Am°[aAg 2) ~moS>}Q>obm naQ>çw{gg
3) ñQ´>oßQ>moH$m°H$g nm¶mo{OÝg 4) gm°ë‘moZobm àOmVr

4) Whooping cough disease is caused by which of the following bacteria infection ?

1) Staphylococcus aureus 2) Bordetella pertussis

3) Streptococcus pyogenes 4) Salmonella species
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5) ZdOmV ‘¥Ë ỳÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m. Ë`mn¡H$s H$moUVo/`mo½` AmhoV?
a) ZdOmV ‘¥Ë ỳMm WoQ> g§~§Y ZdOmV ~mimÀ`m OÝ‘mÀ`m dOZmer AgVmo.
b) ZdOmV ‘¥Ë ỳ Xa WoQ> J ©̂YmaUoÀ`m d`mer g§~§{YV Amho Á`m‘Ü ò OÝ‘ hmoVmo.
c) ZdOmV ~mbH$m§À`m ‘¥Ë ỳMm AmB©À`m e¡j{UH$ pñWVrer OdiMm g§~§Y Amho.
d) Oa AmB©Mo d` 15 Vo 16 dfmªÀ`m Xaå`mZ Agob Va ZdOmV ‘¥Ë ỳMo à‘mU H$‘r AgVo.
n¶m©¶r CÎmao …
1) a Am{U d ’$º$ 2) b Am{U c ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

5) Consider the following statements with regards to neonatal mortality. Which of them is/are correct?

a) Neonatal mortality is directly related to birth weight of the newborn.

b) Neonatal mortality is directly related to the gestational age at which the birth take place.

c) Neonatal mortality is closely related to the educational status of the mother.

d) Neonatal mortality is low if the mother's age is between 15-16 years.

Answer Options :

1) a and d only 2) b and c only 3) a, b and c only 4) a, b, c and d

6) ~°ŠQ>o[a`m Imbrbn¡H$s H$moUË`mÛmao A{‘Zmo½bm`H$mogmBS>bm à{VamoYH$ Agy eH$V ZmhrV?
1) à{VO¡{dH$ B§Q´mgoë ẁba‘Ü ò àdoe H$aÊ`mg A`eñdr
2) ‘m`H«$mo{~`b EÝPmBågÛmao Am¡fY {ZpîH«$` H$aUo
3) ~°ŠQ>o[aAc am¶~mogmo‘gmR>r Am¡fYmMr H$‘r AmË‘r`Vm
4) ~°ŠQ>o[aAc bm¶gmogmo‘gmR>r Am¡fYmMr Cƒ AmË‘r`Vm

6) Bacteria may NOT be resistant to aminoglycosides through which of the following?

1) failure of the antibiotic to penetrate intracellularly

2) inactivation of the drug by microbial enzymes

3) low affinity of the drug for the bacterial ribosome

4) high affinity of the drug for the bacterial lysosome

7) Imbrbn¡H$s H$moUVm AmOma ~mbnUmVrb bÇ>nUm Am{U Ë`mÀ`m àH$Q>rH$aUmer g§~§{YV amoJmgmR>r `mo½`arË`m OwiV
Zmhr?
1) Hw$qeJ qgS´mo‘ - A°SóZb hm`naßbm{g`m qH$dm {nQ>çyQ>ar Q>çy‘a
2) ‘m`bmo{S>ñßbm{g`m - ñnm¶Zm ~m¶{’$S>m
3) hm`nmoBÝgw{b{ZP‘ - Zo{g{S>AmoãbmñQ>mo{gg
4) ñ ỳS>mohm`nmon°amWm`am°B©S>rP‘ - n[adV©Zr` hm`nmoH°$ëgo{‘`m

7) Which among the following is NOT correctly matched for Disease Associated with Childhood

Obesity and its manifestation?

1) Cushing syndrome - Adrenal hyperplasia or pituitary tumor

2) Myelodysplasia - Spina bifida

3) Hypoinsulinism - Nesidioblastosis

4) Pseudohypoparathyroidism - Variable hypocalcemia



‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023/ 200

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 200

For Private Circulation Only

8) nmofU nwZd©gZ H|$Ð (NRC) ‘YyZ gmoS>Ê`mV Amboë`m J§̂ ra Vrd« Hw$nmofUmÀ`m ~mbH$mMo {ZarjU A§JUdmS>r go{dHo$Zo
(AWW) Imbrbn¡H$s H$moUË`m doimnÌH$mZwgma Ho$bo nm{hOo?
1) AmR>dS>çmVyZ EH$Xm n{hë`m ‘{hÝ`mgmR>r Am{U Z§Va AmR>dS>çmVyZ XmoZXm
2) n{hë`m ‘{hÝ`mV AmR>dS>çmVyZ XmoZXm Am{U Z§Va AmR>dS>çmVyZ EH$Xm
3) AmR>dS>çmVyZ EH$Xm n{hë`m ‘{hÝ`mV Am{U Z§Va n§YadS>çmVyZ EH$Xm
4) n{hë`m ‘{hÝ`mV AmR>dS>çmVyZ XmoZXm Am{U Z§Va n§YadS>çmVyZ EH$Xm

8) Child of severe acute malnutrition discharged from Nutritional Rehabilitation Centre (NRC)

should be observed in community by an Anganwadi Worker (AWW) as per which one of the

following schedules ?

1) Once a week for first month and then twice weekly

2) Twice weekly in the first month and then once a week

3) Once a week for first month and then once fortnightly

4) Twice weekly in the first month and then once fortnightly

9) hS>© Bå ẁ{ZQ>r ‘Ü ò {XgV Zmhr
1) {S>ßWr[a`m 2) YZwdm©V 3) Jmoda 4) nmo{bAmo

9) Herd immunity is not seen in

1) Diphtheria 2) Tetanus 3) Measles 4) Polio

10) ES²g hm .......... Bå ẁZmoS>o{’${eAÝgr AmOma Amho.
1) ‘mÜ`{‘H$ 2) àmW{‘H$ 3) àmXo{eH$ 4) MVŵ w©O

10) AIDS is a .......... immunodeficiency disease.

1) Secondary 2) Primary 3) Tertiary 4) Quatenary

11) Wm`am°BS>oŠQ>m°‘rMr gdm©V dma§dma OrdKoUr Jw§VmJw§V ______ Amho.
1) aº$òmd 2) dma§dma ñda §̀ÌmMm ‘‚mmV§Vy njmKmV
3) OI‘oÀ`m g§gJ© 4) Wm`amoQ>m°pŠgH$ g§H$Q>

11) The most frequent life-threatening complication of thyroidectomy is ______.

1) Haemorrhage 2) Recurrent laryngeal Nerve paralysis

3) Wound infection 4) Thyrotoxic crisis

12) AëJmoa ‘m°{Q©>g hr nmoñQ>‘m°Q>©‘ KQ>Zm H$moUmÀ`m VÎdm§da AmYm[aV Amho?
1) dm°ëWa ZoÝñQ>© 2) S>m°. Ho$. Eg. Zmam`U aoÈ>r
3) éS>m°ë’$ Šbm°{e`g 4) ga Am`P°H$ Ý ỳQ>Z

12) Algor Mortis, a post-mortem phenomena is based on the principles laid down by whom?

1) Walther Nernst 2) Dr. K. S. Narayan Reddy

3) Rudolf Clausius 4) Sir Isaac Newton

13) [aJa ‘m°{Q©>gÀ`m nmoñQ>-‘m°Q>©‘ KQ>ZoÀ`m {d ôXH$ {ZXmZmVyZ Imbrbn¡H$s H$moUVo doJio Amho?
1) H°$S>oìh[aH$ C~i 2) CîUVm H$S>H$ hmoUo 3) W§S> H$S>H$ hmoUo 4) C~Xma H$S>H$ hmoUo

13) Which of the following stands out of the differential diagnosis to the post-mortem phenomena of

Rigor Mortis?

1) Cadaveric spasm 2) Heat stiffening 3) Cold stiffening 4) Warm stiffening
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14) gwàmH$m°ÝS>m`ba ’«°$ŠMaMr Jw§VmJw§V åhUyZ gdm©V gm‘mÝ`nUo Jw§Vbobr ‘‚mmV§Vy ______ Amho.
1. ‘Ü`dVu ‘‚mmV§Vy 2. nyd©dVu B§Q>amo{g`g ‘‚mmV§Vy
3. ao{S>`b ‘‚mmV§Vy 4. CëZma ‘‚mmV§Vy

14) The most commonly involved nerve as a complication of supracondylar fractures is ______.

1. Median nerve 2. Anterior interosseous nerve

3. Radial nerve 4. Ulnar nerve

15) J°boPr ’«°$ŠMa {S>ñbmoHo$eZ ______ Amho.
1. CbZmÀ`m {dñWmnZmer g§~§{YV {ÌÁ`mÀ`m XyaÀ`m emâQ>Mo ’«°$ŠMa
2. {ÌÁ òÀ`m S>moŠ`mÀ`m {dñWmnZmgh CbZmÀ`m àm°pŠg‘b WS>©Mo ’«°$ŠMa
3. {dñWmnZ Z H$aVm CbZmÀ`m ImbÀ`m {Vgè`m ^mJmMo ’«°$ŠMa
4. bmoAa ao{S>`b E{n’o${ggMo ’«°$ŠMa n¥W¸$aU

15) The Galeazzi fracture dislocation is ______.

1. Fracture of distal shaft of radius associated with dislocation of ulna

2. Fracture of proximal third of ulna with dislocation of the head of radius

3. Fracture of lower third of ulna without displacement

4. Fracture separation of lower radial epiphysis

16) Imbrbn¡H$s gd© J«oS>o{ZJmo qgS´mo‘Mr d¡{eï²> ò AmhoV.
1. H$m°ÝQ´mboQ>ab ’o$g (VII N) À`m gh^mJmMm njmKmV
2. AmoQ>mo[a`m
3. aoQ´mo Am°{~©Q>b doXZm (V N) gh^mJ
4. b°Q>ab aoŠQ>g nmëgr (VI N) gh^mJ

16) ALL of the following are characteristics of GRADENIGO’S SYNDROME EXCEPT :

1. Paralysis of contralateral face (VII N) involvement

2. Otorrhea

3. Retro orbital pain (V N) involvement

4. Lateral rectus palsy (VI N) involvement

17) ¹$m{S´goßg ’o$‘mo[ag ñZm ỳ AmoT>ë`m‘wio n°Q>obmÀ`m daÀ`m Y«wdmMo ’«°$ŠMa ho ______ Mo CXmhaU Amho.
1. à^m{dV ’«°$ŠMa 2. VmU ’«°$ŠMa
3. H$m°åàoeZ ’«°$ŠMa 4. Avulsion ’«°$ŠMa

17) Fracture of upper pole of patella due to pull of quadriceps femoris muscle is an example

for______.

1. Impacted fracture 2. Stress fracture

3. Compression fracture 4. Avulsion fracture

18) Imbrb gd© ~m~r dJiVm ~Z© é½UmÀ`m n[aUm‘mMo à‘wI {ZYm©aH$ AmhoV :
1. Q> o̧$dmar n¥ð>^mJ Jw§Vbobo AmhoV 2. ~Ýg©Mr Imobr
3. BZhocoeZ XwImnVrMr CnpñWVr 4. ~Ýg© gmBQ> nmgyZ g§gJ©

18) ALL of the following are the major determinants of the outcome of BURN’S patient EXCEPT :

1. Percentage surface are involved 2. Depth of Burns

3. Presence of an inhalational injury 4. Infection from the burns site
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19) àmW{‘H$ ñOmoJ«oÝg qgS´mo‘À`m AmoiIë`m OmUmè`m d¡{eï²>`m§~Ôb Imbrbn¡H$s H$moUVo gË` Zmhr?
1) {bå’$mo‘mMr dmT>bobr KQ>Zm 2) {ó`m§nojm A{YH$ nwéf à^m{dV
3) b°{H«$‘b òmd Xa H$‘r 4) S>moio, Vm|S> Am{U `moZr H$moaS>o hmoUo

19) Which among the following is NOT true about recognized features of primary Sjögren's syndrome?

1) An increased incidence of lymphoma 2) More males affected than females

3) Reduced lacrimal secretion rate 4) Dryness of eyes, mouth and vagina

20) hm`naEŠgQ>oÝeZ - hm`naâboŠeZ BOm Amho:
1) Oo’$agZMo ’«°$ŠMa 2) h±J‘°ZMo ’«°$ŠMa 3) ~{Hª$J 4) pìhnc°e

20) Hyperextension - hyperflexion injury is:

1) Jefferson’s fracture 2) Hangman’s fracture 3) Burking 4) Whiplash

21) .......... dJiVm gd© Zo’«$mo{Q>H$ qgS´mo‘Mr d¡{eï²> ò AmhoV.
1) àmoQ>rÝ ẁ[a`m 2) gyO
3) hm`naH$moboñQ>oamobo{‘`m 4) hm`nmoQ>oÝeZ

21) All are features of nephrotic syndrome except.

1) Proteinuria 2) Oedema

3) Hypercholesterolaemia 4) Hypotension

22) ............. dJiVm gd© H«$m°{ZH$ aoZb ’o$ë ẁAaMr d¡{eï²> ò AmhoV
1) Aeº$nUm 2) Cƒ aº$Xm~ 3) bhmZ AmH$mamMo ‘yÌqnS> 4) nm°br ẁ[a`m

22) All are features of chronic renal failure except

1) Anaemia 2) Hypertension 3) Small size kidneys 4) Polyuria

23) Vrd« nmÊ`mÀ`m Zem~m~V H$m` Iao Amho?
1) ‘yÌme` 290/kg

2) ~mø noer ÐdnXmWm©À`m dmT>rd à‘mUmMm pŠb{ZH$b nwamdm
3) {ga‘ gmo{S>`‘ EH$mJ«Vm <130 mmol/L

4) gm‘mÝ` gmo{S>`‘ ŠcmoamBS>À`m 1 {bQ>abm Ëd[aV à{VgmX
23) What is true regarding acute water intoxication?

1) Urinary osmolality 290/kg

2) Clinical evidence of increased extracellular fluid volume

3) Serum sodium concentration <130 mmol/L

4) Prompt response to 1 L of normal sodium chloride

24) ~«mopÝH$`b AñW‘mgmR>r H§$Q´moba Woanr åhUyZ Imbrb nÕVr dmnaë`m OmVmV
1) ~rQ>m 2 A°SóZ{O©H$ A°Jmo{ZñQ> 2) A±Q>rH$mo{bZ{O©H$
3) BZhoëS> H$m°{Q©>H$mopñQ>am°B©S²g 4) ’$m°ñ’$moS>rñQ>oaog BZ{h{~Q>a

24) Following is used as controller therapy for bronchial asthma

1) Beta 2 adrenergic agonists 2) Anticholinergics

3) Inhaled corticosteroids 4) Phosphodiesterase inhibitor
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25) {Xboë`m {dYmZm§n¡H$s H$moUVo {dYmZ {nÎm{df`H$ ‘mJm©~Ôb ~amo~a Amho?
1. {nÎm Am{U ñdmXwqnS> Z{bH$m ghgm n¹$me`mV ñdV§ÌnUo gm‘rb hmoVmV
2. COì`m Am{U S>mì`m `H¥$VmÀ`m Z{bH$m EH$Ì hmoD$Z gm‘mÝ` {nÎm Z{bH$m V`ma hmoVo
3. XaamoO 1-2 brQ>a {nÎm òmd hmoVmo Am{U {nÎm ‘yÌme`mV 10 nQ> H|${ÐV hmoVmo
4. {nÎmme`m‘Ü ò àm‘w»`mZo ghmZŵ yVr Zgboë`m ‘‚mmV§Vy§Mm {dH$mg hmoVmo

25) Which of the given statement stands correct about the biliary tract?

1. Bile and pancreatic ducts usually join duodenum separately

2. Right and left hepatic ducts join to form the common bile duct

3. 1-2 liters of bile are secreted daily and concentrated 10 fold in the gall bladder

4. Gallbladder is chiefly innervated by sympathetic nerves

26) ‘°bar - doBg qgŚmo‘ g§~§Yr gË` {dYmZ Amho :
1. ho emór` nÕVrZo KS>Vo Ooìhm EImÚm ì`º$sbm ~§X ½bmoQ>rg {déÕ CbQ>çm hmoVmV.
2. AÞZ{bHo$À`m ImbÀ`m {Vgè`m ^mJmV XwImnV hmoVo.
3. O~aXñV CbQ>çm nmoQ>mÀ`m öX`mÀ`m Q>moH$mbm l²boî‘b PrO {Z‘m©U H$aVmV.
4. ho BñQ®>‘|Q>oeZ Woa°{n{Q>H$ E§S>moñH$monr Xaå`mZ CX²̂ dVo.

26) The TRUE statement regarding Mallory - Weiss syndrome is :

1. This occurs classically when person vomits against a closed glottis.

2. Injury occurs at lowered third of oesophagus.

3. Forceful vomiting produces a mucosal tear at the cardiac end of stomach.

4. It occurs during instrumentation therapeutic endoscopy.

27) Imbrbn¡H$s S>m`Z°{‘H$ àH$maÀ`m AmVS>çm§g§~§Yr AS>Wù`mMo CXmhaU Amho :
1. AYmªJdm ỳ B{b`g 2. A§VJ«©hU 3. ìhm°ëdwbg 4. ~±S>/Amg§OZ

27) Example for adynamic type of intestinal obstruction among the following is :

1. Paralytic ileus 2. Intussusception 3. Volvulus 4. Bands/ adhesions

28) Imbrbn¡H$s S>rn doZ W«moå~mo{gg (DVT) À`m Cƒ OmoI‘rer g§~§{YV eó{H«$`m à{H«$`m _______ Amho.
1. ‘°pŠgbmo’o${e`b eó{H«$`m 2. H$m{S>©Amo Wmoa°{gH$ eó{H«$`m
3. EHy$U {hn ~XbUo 4. óramoJ eó{H«$`m

28) The surgical procedure that is associated with HIGH risk of Deep Vein Thrombosis (DVT) among

the following is ______.

1. Maxillofacial surgery 2. Cardio thoracic surgery

3. Total hip replacement 4. Gynecological surgery

29) aº$ g§H«$‘Umnydu ‘w»` H«$m°g‘°qMJ ghgm _______ {‘giyZ Ho$bo OmVo.
1. XmË`mÀ`m noer Am{U àmáH$Ë`m©À`m noer 2. XmË`mMo {ga‘ Am{U àmáH$Ë`m©Mo {ga‘
3. XmË`mÀ`m noer Am{U àmáH$Ë`m©Mo {ga‘ 4. XmË`mMo {ga‘ Am{U àmáH$Ë`m©Mo noer

29) Major crossmatching prior to blood transfusion is usually done by mixing ______.

1. Donor’s cells and Recipient’s cells 2. Donor’s serum and Recipient’s serum

3. Donor’s cells and Recipient’s serum 4. Donor’s serum and Recipient’s cells
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30) ~hþVoH$ AmnËH$mbrZ n[apñWVrV, dm ẁ‘mJ© gwa{jV H$aÊ`mMr gdm©V WoQ> Am{U g‘mYmZH$maH$ nÕV ______ Amho.
1. na³¶wQ>o{Z`g Q´>°{H$AmoñQ>mo‘r 2. E§S>mo ídmgZ{bH$m B§Q>çy~oeZ
3. {H«$H$moWm`am°BS>moQ>m°‘r 4. Q´mÝg ídmgZ{bH$m dm ẁdrOZ

30) In most emergency situations, the most direct and satisfactory method of securing the

airway______.

1. Percutaneous tracheostomy 2. Endo tracheal intubation

3. Cricothyroidotomy 4. Trans tracheal ventilation

31) Vrd« në‘moZar B{S>‘mer g§~§{YV öX` An`emÀ`m ~m~VrV, {Xboë`m CnMmam~Ôb H$m` Iao Amho?
1. {gñQ>m°{cH$ aº$Xm~ < 140 {‘‘r EMOrnojm H$‘r Agë`mg Zm`QóQ²g Q>mimdo
2. â ẁamogo‘mBS> Woanr {àcmoS> Am{U AmâQ>abmoS> H$‘r H$aVo
3. Yy‘«nmZmMr gd` Agboë`m é½Um§‘Ü ò {Z §̀{ÌV Am°pŠgOZ Woanr 28% Am°pŠgOZn ª̀V ‘`m©{XV Agmdr.
4. ACE BZ{h{~Q>a AmâQ>abmoS> H$‘r H$aVmV na§Vw {àcmoS> dmT>dVmV

31) In case of cardiac failure associated with acute pulmonary edema, what is true about the treatment

given?

1. Nitrates should be avoided if the systolic blood pressure < 140 mm Hg

2. Furosemide therapy given IV reduces preload and afterload

3. Controlled oxygen therapy should be restricted to 28% oxygen in patients who has a habit of

smoking

4. ACE inhibitors decreases the afterload but increases the preload

32) Oa é½Umbm Imbrbn¡H$s EH$ Q´m`S> Agob Va ’$mQ>boë`m AmoQ>rnmoQ>mV ‘hmY‘Zr Y‘Zr{dñ’$m[aV hmoÊ`mMr e§H$m Amho:
1. qgH$mon, hm`nmoQ>oÝeZ, nëgoQ>mBb AmoQ>rnmoQ>mV dñVw‘mZ
2. Vrd« AmoQ>rnmoQ>mV / nmR>XwIr, hm`nmoQ>oÝeZ, qgH$mon
3. Vrd« AmoQ>rnmoQ>mV / nmR>XwIr, hm`nmoQ>oÝeZ, AmoQ>rnmoQ>mMm ’w$JdQ>m
4. W«oS> ZmS>r, AmoQ>rnmoQ>mV doXZm, qgH$mon

32) Ruptured abdominal aortic aneurysm is suspected if the patient has triad of one of the following:

1. Syncope, hypotension, pulsatile abdominal mass

2. Severe abdominal/ back pain, hypotension, syncope

3. Severe abdominal/ back pain, hypotension, pulsatile abdominal mass

4. Thready pulse, Pain abdomen, Syncope

33) noQ>§Q> S>ŠQ>g AmQ>}[aAmogg ~Ôb Imbrbn¡H$s H$moUVo {dYmZ Iao Amho?
1. ‘moR>çm S>mì`m Vo COì`m e§Q>Mo gyMH$ åhUyZ Aé§X ZmS>rMm Xm~ {XgVmo.
2. ‘moR>çm S>mdrH$Sy>Z COdrH$S>o e§Q>Mo gyMH$ åhUyZ {dñVrU© ZmS>r Xm~ {XgyZ òVmo.
3. ‘moR>çm COdrH$Sy>Z S>mdrH$S>o e§Q>Mo gyMH$ åhUyZ {dñV¥V ZmS>r Xm~ {XgVmo.
4. ‘moR>çm COdrH$Sy>Z S>mdrH$S>o e§Q>Mo gyMH$ åhUyZ Aé§X ZmS>rMm Xm~ {XgVmo.

33) Which of the following statement is true about Patent ductus arteriosus?

1. Narrow pulse pressure as an indicator of large left to right shunt is seen.

2. Wide pulse pressure as an indicator of large left to right shunt is seen.

3. Wide pulse pressure as an indicator of large right to left shunt is seen.

4. Narrow pulse pressure as an indicator of large right to left shunt is seen.
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34) W«moå~moBå~mo{bP‘À`m CnMmam§~m~V H$m` Iao Amho?
1) dm°a’o$[aZ Woanr à^mdr hmoB©n ª̀V hon[aZ AmoVUo {Xbo nm{hOo
2) 24% Am°pŠgOZ WoanrZo hm`nmoŠgo{‘`m XwéñV Ho$bm nm{hOo
3) dm°a’o$[aZ Woanr 4 AmR>dS>o Mmby R>odmdr
4) ñQóßQ>mo{H$ZoO Woanr Ëd[aV Úmdr

34) What is true regarding treatment of thromboembolism?

1) Heparin infusion should be given until warfarin therapy has become effective

2) 24% oxygen therapy should correct hypoxaemia

3) Warfarin therapy should be continued for 4 weeks

4) Streptokinase therapy should be given immediately

35) OÝ‘OmV öX`{dH$mamer g§~§{YV {Xboë`m OÝ‘OmV {dH¥$Vr qgS´mo‘‘Yrb MwH$sMr OmoS>r AmoiIm.
1) ‘ma’$mZ qgS´mo‘ - {dñVm[aV Am{U {dÀN>oXZ ‘hmY‘Zr
2) {dë`‘ qgS´mo‘ - gwàdmëì ẁba ‘hmY‘Zr ñQ>oZmo{gg
3) Eñßbo{Z`m qgS´mo‘ - A°{Q´̀ b goßQ>b Xmof
4) ’o$Q>b hm`S|>Q>moBZ qgS´mo‘ - ’°bmoQ>Mo Q>oQ´mbm°Or

35) Identify the incorrect pair among given Congenital Malformation Syndromes Associated with

Congenital Heart Disease.

1) Marfan syndrome - Dilated and dissecting aorta

2) William syndrome - Supravalvular aortic stenosis

3) Asplenia syndrome - Atrial septal defect

4) Fetal hydantoin syndrome - Tetralogy of Fallot

36)  dm°Q>a-h°‘a ZmS>r ........ ‘Ü ò {XgV Zmhr.
1) Wm`amoQ>m°pŠgH$mo{gg 2) ‘m¶Q´>b [aJ{O©Q>oeZ 3) ~oar~oar 4) ‘hmY‘Zr arJ{J©Q>oeZ

36) Water-Hammer pulse is not seen in ........

1) Thyrotoxicosis 2) Mitral regurgitation3) Beriberi 4) Aortic regurgitation

37) g|Q´b nm°ÝQ>mBZ Am°ñ‘mo{Q>H$ {S>‘m`{bZoeZ qgS´mo‘Mr d¡{eï²> ò dJiVm gd© g‘m{dï> AmhoV.
1) {S>g’°{J`m 2) {S>gmW©[a`m (~mobÊ`mV AS>MU)
3) {S>ßbmo{n`m 4) S>m`ñQ>mo{Z`m

37) Features of central pontine osmotic demyelination syndrome include all except.

1) Dysphagia 2) Dysarthria (Difficulty speaking)

3) Diplopia 4) Dystonia

38) d¡{eï²>`nyU©nUo, hm`naQ>opÝgìh S>moHo$XwIr ........... CX²̂ dVo
1) g§Ü`mH$mir Am{U níMH$amoQ>r ^mJmV 2) gH$mir Am{U Q>|nmoab/H$U©H$amoQ>r ^mJmV
3) gH$mir Am{U níMH$amoQ>r ^mJmV 4) amÌr Am{U ’«§$Q>b/ ^mbH$amoQ>r ^mJmV

38) Characteristically, a "hypertensive headache" occurs in ..........

1) Evening and in occipital region 2) Morning and in termporal region

3) Morning and in occipital region 4) Night and in frontal region
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39) Imbrbn¡H$s H$moUVm EH$ b¢{JH$ g§H«${‘V amoJ Zmhr?
1. CnX§e 2. ny¶‘oh 3. An‘ZñH$Vm 4. Šc°{‘{S>`m

39) Which of the following is NOT a sexually transmitted disease?

1. Syphilis 2. Gonorrhoea 3. Dementia 4. Chlamydia

40) {df{Z{‘©Vr H$aUmè¶m ...... ‘wio hmoUmam, {Q>Q>°Zg hm ‘‚mmg§ñWoMm EH$ J§̂ ra amoJ Amho.
1. {dfmUy 2. e¡dmb 3. {OdmUy 4. ~waer

40) Tetanus is a serious disease of the nervous system caused by a toxin-producing:

1. virus 2. algae 3. bacteria 4. mould

41) earamV S>m`Q>m°‘ {Xgbo H$s ‘¥Ë ỳMr KQ>Zm Imbrb H$maUm§‘wio hmoVo:
1. Jim Xm~Uo 2. ~wS>Uo 3. {dÚwV em°H$ 4. ídmgmooÀN>dmg

41) Diatoms are seen in the body is case of death due to:

1. strangulation 2. drowning 3. electrocution 4. asphyxia

42) ApñW‘‚mm‘Yrb S>m`Q>m°åg ho gy{MV H$aVmV:
1. gS>Uo 2. JwX‘aUo 3. ~wS>Uo  4. Jim Xm~Uo

42) Diatoms in bone marrow are indicative of:

1. putrefaction 2. choking 3. drowning 4. strangulation

43)  DVI Am°naoeÝg Xaå`mZ dmnabo OmUmao Jwbm~r Am{U {ndio ’$m°‘© ....... Ûmao {Xbo Jobo:
1. B§Q>anmob 2. CBI 3. ICRC 4. FBI

43) The pink and yellow forms used during DVI operations were given by:

1. INTERPOL 2. CBI 3. ICRC 4. FBI

44) 4 bmoH$m§À`m Hw$Qw>§~mV gwédmVrbm Hw$Qw>§~à‘wImbm Vmn Am{U ImoH$bm Ambm. 4 {Xdgm§À`m A§VamZ§Va, Ë`mÀ`m bhmZ
‘wbm‘Ü ò VrM bjUo {XgyZ Ambr. n{hë`m Ho$gMr gwédmV Am{U Xwgar Ho$g gwê$ hmoÊ`mÀ`m Xaå`mZ 4 {Xdgm§Mm hm
H$mbmdYr/‘m§Va ......... Ago CÎm‘ dU©Z Ho$bo Amho.
1. g§àofUmMm H$mbmdYr 2. AZwH«$‘m§H$ ‘Ü`m§Va
3. Cî‘m`Z H$mi 4. {Z{‘©Vr doi

44) In a family of 4 people, initially head of the family got fever and cough. After a gap of 4 days, his

younger son showed same symptoms. This time period/interval of 4 days between onset of first

case and initiation of second case is best described as ..........

1. Period of communicability 2. Serial interval

3. Incubation period 4. Generation time

45) Ho$gm§Mo JmobmH$ma H«$m°g-goŠeZ doJio H$aUmao d¡{eï²>` Imbrbn¡H$s H$moUË`m d§embm Xwgè`mnmgyZ doJio H$aVo?
1. ‘§Jmo{b`Z 2. {ZJ«mo 3. H$m°Ho${e`Z 4. Am°ñQó{b`Z

45) “Round” cross-section differentiating feature of hair differentiates which of the following race

from another?

1. Mongolian 2. Negro 3. Caucasians 4. Australia
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Amamo½¶ H$m¶©H«$‘

1) nëg nmo{bAmo bgrH$aU H$m ©̀H«$‘mMr bú` bmoH$g§»`m _______ Amho.
1) ‘wbo < 5 df} d` 2) ‘wbo > 5 df}
3) < 1 dfm©nojm H$‘r d`mMr ‘wbo 4) emioV OmUmar ‘wbo

1) The target population of pulse polio immunization programme is ______.

1) Children < 5 years of age 2) Children > 5 years of age

3) Children < 1 year of age 4) School going children

2) Or bg ’$º$ 1 dfm©n ª̀V {Xbr OmVo Vr _______ Amho.
1) TT vaccine 2) OPV 3) BCG 4) DPT

2) The vaccine that is given only up to 1 year of age is ______.

1) TT vaccine 2) OPV 3) BCG 4) DPT

3) AmonZ pìh`b nm°{bgr Imbrbn¡H$s H$moUË`m bgtZm bmJy hmoVo?
a) ~rgrOr b) {hn°Q>m`Q>rg B c) S>rnrQ>r d) Jmoda/MR

n¶m©¶r CÎmao …
1) a ’$º$ 2) b Am{U c ’$º$ 3) a Am{U d ’$º$ 4) c ’$º$

3) Open vial policy applies to which of the following vaccines ?

a) BCG b) Hepatitis B c) DPT d) Measles/MR

Answer Options :

1) a only 2) b and c only 3) a and d only 4) c only

4) Ý ỳ‘moH$moH$b Ý ỳ‘mo{Z`m bg (PPV 23) Imbrbn¡H$s H$moUË`m JQ>mgmR>r {e’$mag Ho$br OmVo?
a) 2 dfm©Imbrb ‘wbo b) Á`m§Zm {gH$bgob AmOma Amho
c) Á`m§Zr ñßboZoŠQ>mo‘r Ho$br Amho d) Bå ẁZmo VS>OmoS> Ho$boë`m ì`º$s
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) b Am{U c ’$º$ 4) b, c Am{U d ’$º$

4) Pneumococcal Pneumonia Vaccine (PPV 23) is recommended for which of the following groups?

a) Children under 2 years of ages b) Those who have sickle cell disease

c) Those who have undergone splenectomy d) Immuno compromised individuals

Answer Options :

1) a only 2) a and b only 3) b and c only 4) b, c and d only

5) amï´>r` bgrH$aU doimnÌH$mV H$moUË`m amoJmgmR>r bgrH$aU g‘m{dï> Zmhr?
1) Jmoda 2) JE 3) Pertussis 4) JmbJw§S>

5) Under National Immunisation Schedule for which disease vaccination is not included ?

1) Measles 2) JE 3) Pertussis 4) Mumps

6) Imbrbn¡H$s H$moUVo PHC Mo H$m ©̀ Zmhr?
1) d¡ÚH$s` godm 2) FP gh MCH

3) ‘hÎdmÀ`m AmH$S>odmarMo g§H$bZ Am{U Ahdmb XoUo 4) à‘wI eó{H«$`m
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6) Which of the following is not a function of PHC ?

1) Medical care 2) MCH including FP

3) Collection and reporting vital statistics 4) Major surgeries

7) amoJ Zgboë`m ì`º$s¨À`m hmbMmbtÀ`m ñdmV§Í`mÀ`m ‘`m©Xm, amoJmÀ`m gdm©V àXrK© gm‘mÝ` Cî‘m`Z H$mbmdYrgmR>r
åhUVmV.
1) AbJmd 2) AbJ R>odUo 3) A{YgyMZm 4) XoIaoI

7) The limitation of freedom of movement of non diseased persons, for a period of longest usual

incubation period of the disease is called as

1) Isolation 2) Quarantine 3) Notification 4) Monitoring

8) Zm`OobÀ`m gyÌmda AmYm[aV, àgyVr ‘w»`V… ______ nmgyZ gwê$ hmoVo.
1) Ano{jV VmarI 2) XmoÝhr ~mOybm 1 AmR>dS>m
3) 2 AmR>dS>o AmYr Am{U 1 AmR>dS>m Z§Va 4) 42 AmR>dS>çmV

8) Based on Naegele’s formula, labour starts mostly on ______.

1) The expected date 2) 1 week on either side

3) 2 weeks earlier and 1 week later 4) At 42 weeks

9) OZZr gwajm `moOZm (JSY) hr .................. àm`mo{OV `moOZm Amho.
1) WHO 2) UNICEF 3) amÁ` gaH$ma 4) H|$Ð gaH$ma

9) Janani Suraksha Yojana (JSY) is .................. sponsored scheme.

1) WHO 2) UNICEF 3) State Govt 4) Central Govt

10) Am§Vaamï´>r` ñVamda ñdrH¥$V Mma H$ba H$moS> àUmbrZwgma, Imbrbn¡H$s H$moUVo Q´m`O ~Ôb Iao Amho?
1) {ndim - H$‘rV H$‘r àmYmÝ` 2) bmb - moribund

3) {hadm - ê$½UdmhH$ 4) {Zim - ‘¥V
10) According to internationally accepted four colour code system, which of the following is true

about triage ?

1) Yellow - least priority 2) Red - moribund

3) Green - ambulatory 4) Blue - dead

11) emgH$s¶ àmW{‘H$ Amamo½¶ H|$Ð/emgH$s¶ é½Umc¶mV OÝ‘Umè¶m ZdOmV ~mcH$m§Zm ~o~r Ho$Aa H$sQ> CncãY
H$éZ XoÊ¶m~m~VMr ¶moOZm H$moUË¶m {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
1) gmd©O{ZH$ Amamo½¶ {d^mJ 2) J«m‘ {dH$mg {d^mJ
3) ‘{hcm d ~mc {dH$mg {d^mJ 4) d¡ÚH$s¶ {ejU {d^mJ

11) Scheme of providing baby care kit to newborns born in Government Primary Health Center/

Government Hospital is implemented through which department.

1) Public Health Department

2) Rural Development Department

3) Department of Women and Child Development

4) Department of Medical Education
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12) ‘mV¥ Amamo½`m‘Ü ò MDSR åhUOo H$m`?
1) ‘mVm ‘¥Ë ỳ nmiV R>odUo Am{U à{VgmX 2) ‘mVm ‘¥Ë ỳ gd}jU Am{U Ahdmb
3) ‘mVm ‘¥Ë ỳ nmiV R>odUo Am{U nwZamdbmoH$Z 4) ‘mVm ‘¥Ë ỳ nwZamdbmoH$Z àUmbr

12) What is MDSR in Maternal health ?

1) Maternal Death Surveillance and Response

2) Maternal Death Survey and Report

3) Maternal Death Surveillance and Review

4) Maternal Death Review System

13) RCH H$m ©̀H«$‘m§VJ©V à‘wI hñVjonm§‘Ü ò dJiVm gd© g‘m{dï> AmhoV :
1) AË`mdí`H$ àgyVr H$miOr 2) bgrH$aU
3) ‘wbm§‘Ü ò Aeº$nUm à{V~§Y Am{U {Z §̀ÌU 4) d¥Õm§‘Yrb Ag§gJ©OÝ` amoJm§Mo à{V~§Y

13) The major interventions under RCH programme includes ALL EXCEPT :

1) Essential obstetrics care

2) Immunization

3) Prevention and control of anemia in children

4) Prevention of non-communicable diseases in elderly

14) Amamo½` godm àUmbr‘Ü ò à{V~§YmË‘H$, CnMmamË‘H$ Am{U àmoËgmhZmË‘H$, CnMmamË‘H$ Am{U àmoËgmhZmË‘H$ godoMo
Bï>V‘ ẁ{ZQ> H$moUVo Amho?
1) n`m©áVm 2) CnbãYVm 3) gd©g‘mdoeH$Vm 4) `mo½`Vm

14) What is the optimum unit of preventive, curative and promotive, curative and promotive service

in Health Care System ?

1) Adequacy 2) Availability 3) Comprehensiveness 4) Appropriateness

15) ‘mZdr bmoH$g§» òVrb Amamo½`mer g§~§{YV d¡{eï²>`m§À`m {dVaUmMm Aä`mg H$aUo Am{U H$moUË`m d¡{eï²>`m§er g§~§{YV amoJ
Agë`mMo {XgVo Vo AmoiIUo.
1) n`m©daUr` ‘hm‘mar {dkmZ 2) àm`mo{JH$ ‘hm‘mar{dkmZ
3) {díbofUmË‘H$ ‘hm‘mar{dkmZ 4) dU©ZmË‘H$ ‘hm‘mar{dkmZ

15) Studying distribution of health related characteristics in human population and identifying the

characteristics with which disease seems to be associated is....

1) Ecological epidemiology 2) Experimental epidemiology

3) Analytical epidemiology 4) Descriptive epidemiology

16) S|>½ ỳ Vmn {Z §̀ÌUmgmR>r g‘mOmV CnbãY Agbobr gdm}Îm‘ nÕV...
1) S|>½ ỳ bg 2) d¡̀ {º$H$ g§ajUmË‘H$ Cnm`
3) ßboQ>boQ> Q´mÝg{‘eZ 4) S>mg {Z §̀ÌU

16) The best available method of Dengue fever control in community is...

1) Dengue vaccine 2) Personal protective measures

3) Platelet transmission 4) Mosquito control
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17) ‘bo[a`m‘Yrb go§{Q>Zb XoIaoI H$m ©̀H«$‘mMo C{Ôï> _______ Amho.
1. {OWo Amdí`H$ Agob {VWo ñWbm§V[aVm§Mr ‘moR>çm à‘mUmV VnmgUr
2. Á`m {R>H$mUr {Z`{‘V Amamo½` godm gw{dYm CnbãY ZmhrV VoWo ‘mo~mB©b AmYm[aV nmiV R>odUo
3. ‘bo[a`m Am{U ‘bo[a`m g§~§{YV ‘¥Ë ỳÀ`m gd© ~møé½U Am{U Am§Vaé½U é½Um§À`m é½Umc`m§‘Ü ò aoH$m°{Sª>JgmR>r
4. J«m‘rU ^mJmV aº$mÀ`m pñ‘`agh g{H«$` Ho$g emoYUo

17) The aim of sentinel surveillance programme in malaria is _______.

1. Mass screening of immigrants wherever necessary

2. Mobile based surveillance where routine health services facilities are not available

3. For recording of all outpatient and inpatient cases of malaria and malaria related deaths in

hospitals

4. Active case detection in rural areas with blood smears

18) amï´>r` Hw$ð>amoJ {Z‘y©bZ H$m ©̀H«$‘m§VJ©V _______ da A{YH$ ^a {Xbm OmV Amho.
1. ZdrZ àH$aUm§Mm emoY 2. An§JËd à{V~§Y Am{U d¡ÚH$s` nwZd©gZ
3. CnMma nyU© H$aUo 4. é½Um§Zm Am{W©H$ ghmæ` àXmZ H$aUo

18) Under National leprosy Eradication Programme more emphasis is being given on ______.

1. Detection of new cases

2. Disability prevention and medical rehabilitation

3. Completion of treatment

4. Providing financial support to patients

19) S>m`aoŠQ>br Am°ãPìh©S> {Q´Q>‘|Q> em°Q>© H$mog© (S>m°Q²g) ñQ°́Q>oOr _______ À`m ì`dñWmnZm‘Ü ò bmJy Ho$br OmVo.
1. Cƒ aº$Xm~ 2. ‘Yw‘oh ‘o{bQ>g 3. Hw$nmofU 4. j`amoJ

19) The Directly Observed Treatment Short course (DOTS) strategy is applied in the management of

______.

1. Hypertension 2. Diabetes Mellitus 3. Malnutrition 4. Tuberculosis

20) EH$m drg dfm©À`m ‘{hboZo EMnrìhr {dê$Õ MVŵ w©O bgrMo XmoZ S>mog KoVbo AmhoV. AmVm {VMr ẁ[aZar ào¾|gr Q>oñQ>
nm°{P{Q>ìh Amë`mZo H$m` H$madmB© H$amdr?
1. J ©̂YmaUm gwê$ R>odm Am{U bgrMm nwT>rb S>mog eoS>çyb Pmë`mda ¿`m
2. J ©̂YmaUoMr d¡ÚH$s` g‘már Am{U bg eoS>çyb Ho$ë`mda Mmby R>odUo
3. J ©̂YmaUm Wm§~dV bgrH$aU gwê$ R>odm
4. J ©̂YmaUm gwê$ R>odm Am{U ~m`ìh°b|Q> bgrda pñdM H$am

20) A twenty years old lady has taken two doses of quadrivalent vaccine against HPV. Now her urinary

pregnancy test is positive what action to be taken ?

1. Continue pregnancy and take next dose of vaccine when it is scheduled

2. Medical termination of pregnancy and continue vaccine when it is scheduled

3. Continue pregnancy stop vaccination

4. Continue pregnancy and switch over to bivalent vaccine

21) IDSP A§VJ©V d¡ÚH$s` A{YH$mè`mZo R>amdrH$ B{Vhmg Am{U Z¡Xm{ZH$ VnmgUrÀ`m AmYmao {ZXmZ Ho$bo Agë`mg,
Ë`mbm _______ åhUVmV.
1. qgS´mo{‘H$ {ZXmZ 2. AZw‘m{ZV {ZXmZ
3. {ZXmZmMr nwï>r 4. {d ôXH$ {ZXmZ
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21) Under IDSP if the diagnosis is made on typical history and clinical examination by the medical

officer, then it is called______.

1) Syndromic diagnosis 2) Presumptive diagnosis

3) Confirmed diagnosis 4) Differential diagnosis

22) ìhoo{gŠ ẁaoQ>oab [aâbŠgÀ`m ‘yë`m§H$ZmgmR>r Imbrbn¡H$s H$moUVr VnmgUr gdm©V OmñV ng§V Ho$br OmVo?
1) ỳEgOr ‘yÌme` 2) ỳamoâbmo‘oQ´r
3) B§Q́mìhoZg ỳamoJ«m’$s 4) ìhm°B©qS>J {gñQ>moaoW«moJ«m’$s

22) Which of the following investigation is most preferred for evaluation of vesicoureteral reflux?

1) USG bladder 2) Uroflometry

3) Intravenous urography 4) Voiding cystourethrography

23) h°[agZZo ‘o{S>H$b Am°{S>Q> Mo {ZarjU H$aÊ`mÀ`m {d{dY nÕVr gwMdë`m. Imbrbn¡H$s H$moUVr {ZarjU nÕV MwH$m§‘YyZ
{eH$Ê`mÀ`m àmW{‘H$ H$ënZoda AmYm[aV Amho?
1) PEER nwZamdbmoH$Z 2) g|{Q>Zob àH$aUo
3) gd}jU 4) {ZH$f AmYm[aV Am°{S>Q>

23) Harrison suggested different methods of monitoring of "Medical audit". Which of the following

method of monitoring is based on the primary idea of learning from mistakes ?

1) PEER review 2) Sentinel cases

3) Surveys 4) Criterion based audit

24) amï´>r` j`amoJ {Z‘y©bZ H$m ©̀H«$‘ (NTEP) Zwgma EMAm`ìhr/Q>r~r gh`moJr {H«$`mH$bmnm§Zm ~iH$Q> H$aÊ`mgmR>r à‘wI
hñVjon ............ dJiVm gd© AmhoV.
1) Vrd« Q>r~r àH$aUo emoYUo 2) CBNAAT/TrueNat Mm dmna
3) Q>r~r à{V~§YmË‘H$ Woanr 4) Q>r~r Am{U EMAm`ìhr gy{MV H$aUo

24) As per National Tuberculosis Elimination Programme (NTEP) key interventions to strengthen

HIV/TB collaboratives activities are all except ............

1) Intensified TB case finding 2) Use of CBNAAT/TrueNat

3) TB preventive therapy 4) Notifying TB and HIV

25) PMJAY `moOZoÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m :
a) hr OJmVrb gdm©V ‘moR>r Amamo½` {d‘m `moOZm Amho, Or nyU©nUo gaH$maÛmao {dÎmnwadR>m Ho$br OmVo.
b) ho H$m¡Qw>§{~H$ AmH$ma, d` qH$dm qbJ `mda {Z~ªYm§gh Amamo½` godm godm§‘Ü ò gd© ZmJ[aH$m§Zm H°$ebog àdoe àXmZ

H$aVo.
c) ho ̂ maVmVrb gmd©O{ZH$ qH$dm ImOJr é½Umb`mV Xwæ`‘ Am{U àmXo{eH$ XoI^mb é½Umb`mV àdoemgmR>r à{V Hw$Qw>§~

à{V df© é. 5 bmI H$ìha àXmZ H$aVo.
d) `m‘Ü ò hm°pñnQ>bm`PoeZnyduÀ`m 3 {Xdgm§n ª̀V Am{U hm°pñnQ>bm`PoeZZ§VaÀ`m 15 {Xdgm§À`m EŠñàog Ogo H$s

{ZXmZ Am{U Am¡fYo g‘m{dï> AmhoV.
darbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
1) a Am{U b ’$º$ 2) a, b Am{U c ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$



‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023/ 212

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 212

For Private Circulation Only

25) Consider the following statements in context to PMJAY Scheme :

a) It is World's largest Health Insurance Scheme, fully financed by the Government.

b) It provides cashless access to all citizens to health care services with restrictions on family

size, age or gender.

c) It provides cover of Rs.5 lakh per family per year for secondary and tertiary care hospitalisation

access at empanelled public or private hospital in India.

d) It covers upto 3 days of pre hospitalisation and 15 Days post hospitalisation express such as

diagnostics and medicines.

Which of the above statements is/are true ?

1) a and b only 2) a, b and c only 3) b, c and d only 4) a, c and d only

26) emco¶ nmofU Amhma ¶moOZoer nwT>rcn¡H$s H$moUË¶m ~m~r g§~§{YV AmhoV ?
a) àmW{‘H$ {ejUmMo gmd©{ÌH$aU H$aUo.
b) {dÚmÏ¶mªMr nQ>Zm|XUr dmT>{dUo.
c) ‘mo’$V JUdoe dmQ>n H$aUo.
d) darc gd©
darcn¡oH$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) ’$º$ (d)

26) ‘Which of the following is related to school mid-day meal programme ?

a) Universalization of primary education

b) Increasing student enrolment

c) Distribute free uniforms

d) All of the above

Which of the statement(s) given above is/are correct ?

1) (a) and(b) 2) (b) and (c) 3) (a) and (c) 4) Only (d)

27) 'Amamo½¶ Am{U Hw$Qw>§~ H$ë¶mU ‘§Ìmb¶' ^maV gaH$ma ¶m§À¶mH$Sy>Z am~{dë¶m OmV Agboë¶m 'Am^m' H$mS>© (ABHA

Card) hm H$m¶©H«$‘ Imbrbn¡H$s H$moUË¶m CnH«$‘mMm ^mJ Amho?
1) Am¶wî¶‘mZ ^maV S>mQ>m {‘eZ 2) Am¶wî¶‘mZ ^maV {S>OrQ>b {‘eZ
3) Am¶wî¶‘mZ ^maV S>mQ>m ‘m°S>ob 4) Am¶wd}{XH$ ^maV {S>OrQ>b {‘eZ

27) The ABHA-Card programme implemented by the Ministry of Health and Family Welfare,

Government of India is a part of which of the following scheme ?

1) Ayushman Bharat Data Mission 2) Ayushman Bharat Digital Mission

3) Ayushman Bharat Data Model 4) Ayurvedic Bharat Digital Mission



‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023/ 213

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 213

For Private Circulation Only

CÎmao

(8) e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

1) e¡j{UH$ joÌmVrb KQ>Zm

1-3 2-4

2) amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

1-2

3) Amamo½¶ joÌmVrb KQ>Zm

1-1 2-1 3-3 4-4 5-4 6-2 7-3 8-2 9-1 10-1
11-1 12-3 13-3 14-3 15-2 16-4 17-4 18-3 19-4 20-2
21-4 22-2

Am¡fYo d agm¶Zo

1-3 2-3 3-1 4-2 5-4 6-2 7-3 8-3 9-4 10-3
11-4 12-2 13-3 14-2 15-1 16-1 17-3 18-3 19-1 20-3
21-1 22-1 23-2 24-3 25-3 26-1 27-3 28-3 29-3 30-4
31-3 32-2 33-1 34-1 35-3 36-1 37-3 38-2 39-4 40-2
41-1 42-3 43-1

‘hÎdmMo amoJ

1-3 2-1 3-4 4-2 5-3 6-4 7-3 8-3 9-2 1-1
11-1 12-4 13-4 14-2 15-1 16-1 17-4 18-4 19-2 20-4
21-4 22-4 23-3 24-3 25-3 26-3 27-1 28-3 29-3 30-2
31-2 32-3 33-2 34-1 35-3 36-2 37-4 38-3 39-3 40-3
41-2 42-3 43-1 44-2 45-1

Amamo½¶ H$m¶©H«$‘

1-1 2-3 3-2 4-3 5-4 6-4 7-2 8-3 9-4 10-3
11-3 12-1 13-4 14-3 15-4 16-4 17-3 18-2 19-4 20-3
21-2 22-4 23-1 24-3 25-4 26-1 27-2


